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(o § yitet) b )

Most of the gaseous exchange in a leaf occurs

1_| through: tetna N Ipmwurd e | 1
(A) Stomata (B) General surface v () bz =
(C) Cuticle (D) Lenticels g (5 S (&)
2 | Stomata are present in: WBLstarrtar | 2
(A) Epidermis (B) Endodermis bk (w) A (et
(C) Xylem (D) Phloem Aok (2) i (&)
) :mﬁ;i: I-:??a bsorbed through stomata of plants Tq.J:r..r:g Ao JJ;!»{JM&_J: )
(A) | Carbon dioxide | (B) Oxygen ST (o) b 2 'u_ o =
(C) Nitrogen (D) Hydrogen Pl {J:Il '_{;,L .
] :T::;Ti ;ype of blood vessels present around the gﬂ,ﬂfﬁ,ﬂ.@) U),”r caudi| o
(A) Artery (B) Capillary uﬁ*‘ foeh | L G2 ()
(C) Arteriole (D) Veins U :__-_..m_._ T o
o EE.LTIHE ti’n of oxygen and giving out of carbon dioxide v;—ﬂlfwﬁfw Jlj._.:.arm:f...:ff u"-"’T o
(A) | Aerobic respiration | (B) Anaerobic respiration . :“fv" i{»-l:.!::-"-'r:' () o J 17| ()
(C) | Gaseous exchange | (D) Respiratinn s J.-f:v’J (4) Ik (&)
13_| The rate of breathing at rest in humans is: edat Al vt e feituiun | 13
16-20 times per LA ' _ _

(A) minute B) | 70-80 umes. [:rar mmute - 70-80 2o} (+) 16-20 w28 (wel)
80-100 times per ) i

(C) minute (D) 1f]=2£+ t‘rmes. pEr r'mnute 10-20 -y (2) 80-100 =g (&)

sl S oKL s Al L ST AL
The rate of breathing during exm:ise ar ﬂther hard . oebeste bl ins

14 | physical work is: LY, q-anﬁd’M 14
1[}_2[} '[IFI'IES per e T [T 1 ‘
(A) minute .| {B)4 "'-_Eﬂrﬂﬂ times per minute 20-30 = () 10-20 2=+ =
30-40 timgs-per - - M7 . .
(C) mmL‘r{e .1 {0)1"" 40-50 times per minute 40-50 =3 (s) 30-40 248 (&)
17 | The g[nttls is guaﬁded by a flap of tissue called: W 24-BpfairfILF 0SS K | 17
(A) Trar:hea (B) Glottis S (+) Y ()
(C) Bronchi (D) Epiglottis S (3) e (&)
The thick muscular structure that is present below the
20 | lungs is called: et oty 2 Lusaf p ) e | 20
(A) Diaphragm (B) Thorax U () A ()
(€) | Pleural membrane | (D) Abdomen &l (2) oL A Jork (&)
21 | A thick muscular layer beneath the lungs is called: - 00 =/ dr -fnihl.t-é;;.éu.ﬁ 21
(A) Ureter (B) Bladder 24t () ! ()
(C) Diaphragm (D) Kidney ) () AL (&)
The muscles of rubs are called:
23 WBILWI Ly | »
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(A) | Smooth muscles | (B) Cardiac muscles LK ) F i =
(C) | Intercostals muscles | (D) Costal muscles FS (5) S (@)
24 | Length of a trachea is: el | 24
(A) 12 cm (B) 14 cm 14 cm ) 12 cm (i)
(C) 16 cm (D) 18 cm 18 cm () 16 cm (&)
The gaseous exchange in mammals or cow is
28 | occured: et dipfurd LM | 28
(A) Bronchi (B) Trachea iy (+) Sy (i)
(€) Pharynx (D) Alveoli g (2 oA (&)
30 | The box which produces sound is called: B 2edblSignT | 30
(A) Trachea (B) Bronchi 3 o) :'E‘U ) ()
(C) Alveol (D) L arynx s 0} o :l..-L*J'J'l (&)
. sall'll':.l;c ular way which is common for food and air is ﬁﬂfq—ff 4' &mmfuﬂ_.-m’ :‘:‘..ﬁ "
(A) Trachea (B) Alveol Sugh s TR [ W ()
(C) Larynx (D) Pharynx __Lf , j_'-{a}-" . (&)
The walls of the alveoli are broken down in the o
35 | disease named: q-»wﬁ' fﬂeﬂiﬂ.‘d&u’ LApSdughi [ 35
@A) | Bronchis | (8) Emphysema - e | (o) S, ()
© | Preumonia | (D) psthma %L R ) i (@)
" ;T;E?n:l:;? is caused by streplnnnccul’; i ?Jﬂ{f;ﬁ{fﬂfﬁ-.fﬂ{kr}uf JL&-}# .
(&) | Bronchits | (B) Emﬁhysema o () S ()
© | Preumonia | (D) AR N ) i (®)
37 QZ:r?tfe"i.:EET " HT#T ar_ﬂ ?m:ﬁmn i Lyt AT LS LaF | 37
(A) Atleast30 | (B) |. " tleast 40 . ed () s ()
(€) Atleast50 ¢ {ﬂ} 2 R least 60 sl (5 il (&)
38 | Total chemmals in tubac{:ﬂ iﬁmke are: (LKL L L S V] 38
(A) Over THDﬂ _.Z{E}_"' 7 Over 2000 2000 («) —F1000 (w3h)
© |  Owraod '-:!{'n'; Over 4000 —4000 8 —£3000 @)
40_| Inflammation of bronchi or bronchioles is called: -0 dIE a6 | 40
(A) Ae | (8 Pneumania oo () K ()
(C) Bronchitis (D) Cough = (3) Yol 2 &)
46 | The process of guttation occurs in the plant: 1+-FHJU”#¢"*4J’ fcﬁ, 46
(A) Pine (B) Grass s () 5 ()
(C) Keekar (D) Rubber plant 11267 () & (&)
7 | e margin ofeaves s calodr || e WISttt g Lor | a7
Guttation
(A) Evapaoration (B) = () o) (i)
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(C) Transpiration (D) Sublimation S (5) RIS (&)
The gas produced in mesophyll cells as by product GMUIMLMMJEJsxpﬁMI& chicos
48 durinw time is called: | 48
(A) Oxygen (B) Carbon dioxide AT ek () ST ()
(C) Nitrogen (D) Chlorine e (2) PPl (&)
49 | Example of Hydrophyte plants is: !J;-Muyfuﬂ 49
(A) Water lily (B) Cactus o (o) JEEE =
(C) Sea grass (D) Grass S (1) S e (&)
50 | Resins, as waste material, is excreted from: 1‘-'-‘#@} ‘f’{"{-‘-"' L] 50
(A) Conifers (B) Tomato A () | ,,; 3 ()
(C) Kikar (D) Rubber 7 ) ° f ) (&)
Plant store most of the water in their cells mostly for Mwﬂﬁémuﬂm;qﬂ@ﬂw
52 | the: [ s ‘e | 52
(A) Transpiration (B) Guttation J“f {-r} o< A =
(C) Turgidity (D) Photosynthesis ,-v‘" ,, 0 o TS (@)
53 | The example of halophytes plant is: :«,-Muugu-i’ i | 53
(A) Water lily (B) Sea grass pe uwﬂ () Js ()
(C) Rose flower (D) Cactus Ak v’”';": B (4) —f (&)
57 ;ﬁiﬁ:ﬁ: L::;E:s' wronb rﬁ_l.-and +ﬂ“’ ung DL a7 oy | 57
(A) Excretion (B) TuhuLar.-'%*E;:lFé-tiérp ' . L KE e () 'n.rr"/"r | =
(C) Homeostasis (D) He;}:ﬁsgﬁ;ﬁm etk (5) Nl (&)
s Lh:aw::’ntenanm of mternaﬂll_lhlu-rm!-n hﬂd?rte-mperature . uqurf,;: iedoalon | s
(A) Osmaoregulation (B) RﬂEpLFEtIDFI S () -f‘J £ =
(C) Guitation {D] Thennnregulatmn Sy F (2) o2 (&)
59 f::::ﬂ.-ﬁﬁfff’"wf mammn&.the . e bl LT 467 | 59
(A) Ear v, i,'Ei " Kidneys e/ () ¥ ()
(C) ‘I""-E'E’r'n:.f:" ‘(D) Lungs o (2) e (&)
0 ;I;he name of h.lbﬂ ﬁethEn kidney and urinary bladder e AL rthS it | e
(A) Ureter (B) Urethra Ay (+) fd ()
(C) Renal tubule (D) Nephron os (4) Jrd e (&)
o | e ot | ttpit ittt @
(A) Water (B) Calcium ions s () i ()
(C) Blood cells (D) Urea Lot (2) K (&)
66_| The length of each kidney is: - Oodd S s | 6
(A) 10 cm (B) 5 cm 5 cm () 10 cm (i)
(C) 4 cm (D) 27 cm 27 cm (2) 4 cm (&)
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68 | Weight of human kidney is approximately: e tnpiil ¥ Vs Lo | 68
(A) 27 g (B) 127 g 127 g () 27 g ()
(c) 60 g (D) 120 g 120 g () 60 g (®)
70 | Renal pelvis is a part of: e oLk | 70
(A) Testes (B) Lungs Ks g () W (%)
(C) Heart (D) Kidneys KU/ (3) K (&)
The longitudinal section of a kidney shows the outer
73 | part: et odn i LS| 13
(A) Renal cortex (B) Renal medulla s de S5 () LKL (stl)
(C) | Renal pyramids | (D) Renal pelvis BEN 4) u'fL = (&)
Body balance of water, salts, temperature and
74 | glucose is termed as: -t U;{’ M—'riﬂ;,f‘ﬁ" ey | 14
(A) Excretion (B) Tubular secretion K e {3-']'--_ f”’ i (et
(C) Homeostasis (D) Re absorption Faads J’j ' (&)
75 | What waste products are excreted by kidneys? ) "’LEL)' ﬁvli’u»w'i:-uf eS| 15
ek .JE;:IL..L ._,.,-'I-"
Urea, water and Salts, water and carbon S b -
(A) salts (B) dioxide P, & 2y (=)
(C) | Ureaandwater | (D) Urea and salts ﬂftf" iy (s) Sl oy (&)
76 | The concave part of the kidney is towards: tetnd S e eS| 16
(A) Upper (B) Lﬂwer ] | e (w) 4 =
Toward vertebral R oy
(C) column (D) | Away from vertehral cnlumn a6 ) Ao (&)
78 | What are not filtered through Elnmeru al: capiﬂaries‘? ; fem /“ l"’#—-:.ﬁi.-:#! v J;f; 78
Blood cells and ‘ . _
(A) proteins (B) | Fats and pro‘tems Hrgel s () s g5 Ik ()
© | Fasandsats | (o) "-saits ard proteins s g (3) B P (@)
Which is absorbed in.a. tuhu{e gﬂlng d:iwn from loop
79 | of Henle? o te-edrgooffddefdlarioy | 19
(A) Salts 1 I"{B}__ . L7 Glucose ¥ () sl (th)
(C) Watér _.fﬁ]"' 7 Urea Loy (2) d (@)
80 | Functional it uj‘ hldn éy is called: e PP | o
(A) Gmmemms (8) Nephron A () Sk ()
(C) Loop of henle (D) Ureter .z () il (&)
84 | Which type of coordination is found in plants? "ﬁ'—-'}lﬂjh:;’“" 'hT!"'J() v LUy | 84
chemical D Cae v
(A) coordination (B) | Mechanical coordination’ A S () UELAEN (wth)
Mervous ¢ .0 PR
(C) coordination (D) Electrical coordination LR s () A )
How many numbers of components are involved in . ..
85 | coordinated action? PRPN G P 2T/ ad WY
(A) Two (B) Three o () ()
(C) Five (D) Seven =l (5) &L (@)
86 | A coordinated action ends at: -ﬁ'—hf?; uﬁ'b*ﬁ-'ff 86
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(A) Stimulus (B) Response A («) e =

(C) Coordinator (D) Effectors A () Nty (&)
Which organs act as a coordinator in a chemical

87 | coordination? S b/ ¥ b 13T DS Meod LT3N | g7

(A) Brain (B) Spinal cord Sy () Eus ()

(C) | Endocrine glands | (D) Neurons 2y (2) B A (&)

88 | It is responsible for chemical coordination: e WSS S| gy

(A) | Endocrine system | (B) | Central nervous system AP («) ¢ (i)
Peripheral nervous , .

(C) system (D) | Autonomic nervous system arrEL () ey (&)
Specific organs, tissues or cells of the body that

91 | intercept the stimuli: WA wa#Jéuf" A*‘ w’f AALS | 91

(A) Receptors (B) Effectors K {fl 1. T J*ﬁ:J‘ ,. ()

(€) Coordinators (D) Dendrites St | -:'H T (&)

92 | Action performed by effectors is: BRI f—ﬂ'f rf( WK | 92

(A) Response (B) Stimulus S o | s ()

(C) Voluntary (D) Involuntary e 2l S F ()

93 | In neuron, nucleus is present in: P3N S— et | 93

(A) | Myeinsheeth | (B) Axons R N # (<

(C) Cell body (D) Nodes of Ranvier . “| . . .ca/niss (2 Shk (&)
The portion of the nervous system that is mvuluntar},r e

95 | in action: . T.:,-.rndﬂ,é{.ﬁf &2V | 95

Somatic nervous )

(A) system (B) Motor riervous-system.. - v () iy (bl
Autonomic nervous T T . N

(C) system (D) | Sensoiynervous system S (2) i (@)
Which neurons are present Mslde Ihe central nervous :

96 | system? o e ?ﬁ‘-le-p’J A |‘: ¢SS 96

Sensory neurons  fe-. | _

(A) only B I"u'lt:hj'f neurons only B i () Mg e (i)

(C) Both .. 1. (D). | :.“Interneurons only g B (5 A (&)
Apart from: haa fing, what ntharmajﬂr body function is _

98 | performed by the ear? - g1 ol W b L | o8

(A) Hormohe Sacretion "{E} Body balance e () FAE v (=
Reduction’in, newe N ,h

(C) pressure (D) All of these (v () g oAy (&)
The myelin Sheath is formed by........., which wrap

99 | around the axons of some neurons. -LELH&-*; Fl PP X S 2. 2N &2 | 99

(A) | Nodes of Ranvier | (B) Axons kS (+) s oS ()

(C) Dendrites (D) Schwann cells K (3) el @)

102 | The unit of nervous system is: ‘;'—J“Jﬁ"' Vs | 102

(A) Nucleus (8) Neuron i (=) oy =

(C) Receptors (D) Nephron eI A () § s (&)
The thread like projections of a neuron cell body LA 5 ]
which conduct nerve impulses away from the cell Lﬂmﬁj’&!fk 'Efw ﬁ:JLﬂ,;.fiuuﬁ

104 | body of neuron are called: :LEMLE&.' 104
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(A) Axons (B) Dendrites > () Sk ()
(C) Schwan cells (D) Nodes of Ranvier £l o5 (2) ok (&)
1 l’:ﬁeﬂraters of neurons cell bodies outside CNS are gt sl )‘rﬁ{,‘#ﬁﬁwufﬁir”’dﬂdﬁ .
(A) Pons (B) Nerves it/ () 4 (wth)
(C) Meninges (D) Ganglia s () K (&)
Neurons in which direction of nerve impulse is JM?‘}#J)JijMJﬂuﬂwﬂd
107 | towards brain and spinal cord are called: ol | 107
(A) | Sensoryneurons | (B) Associative neurons g o ¥ () g A (i)
(C) Motor neurons (D) Nerve impulse Ve (2) gy (&)
108 :‘#:::J::?u rons conduct impulses from CNS to rwdel o6 }'E'—I‘:.ﬁ"';rﬂ..ij"fﬁ’lﬂ'ﬂ;gu'uf 05
(A) Motor (B) Inter F ). fr’ (i)
(C) Sensory (D) Hormones ik H | O (&)
- ;Er:a|;g::|t| :Sfl most highly developed part of human ‘ ﬁﬂ't‘i-’:i, Jf;:ﬂff:. Lo i
(A) Midbrain (B) Forebrain E R <1 (i)
(C) Hindbrain (D) Cerebellum H“*‘ s (2) of < (&)
112  bran,which fnction of the body wil bsafected? | m.m.»wrsr:mrmﬂuwm 112
(A) Intelligence (B) Body balance e G () =3 (st
(C) Heart beat (D) Thinking ™ RS 2 (4) &l ()
s ﬂ::.:np::::;f a hindbrain controls ml.:.sclfl et SIS ovatbset | 113
(A) | Medullaoblongata | (B) | Cemhellurﬂ oz (o) ekl L (st
(C) Pons o | {:erebrurn o () 7 (&)
They receive mfnrma,tmn, IrItEr{:l.FEt i:ham and hﬁfﬂ;ﬁ#ﬁ#uﬂ#ﬁwwﬂdﬂ;ﬂh&’
115 | stimulate motor neuruns < e | 115
(A) [ Sensory neurons ,_IIB.} 1 " Inter neurons g P () Pl A ()
(C) Motnr néuruns HJ] Mmed neurons gk () Fog sy (&)
116 | Which. nn& cuntrﬂls ragé; pain, pleasure and sorrow? iﬁ'—-“f S a8 12 S Fosse 116
(A) Eerehellum (B) Medulla s () e (et}
(C) H}rpmhalamua (D) Midbrain e[ 14 ) V) (&)
118 | Receives and analg:es. visual information: :f—rfﬂf fuhﬁfdﬁfﬁh"‘dﬂ 118
(A) | Temporallobe | (B) Occipital lobe IS (+) Aot ()
(C) Frontal lobe (D) Parietal lobe A Fs (3) g @)
119 | Vertebral column protects: fc,'-ff #WHIU;:'# 119
(A) Heart (B) Spinal cord g (+) Js ()
(C) Brain (D) Lungs Papr (3) s &)
120 | Spinal cord is the continuation of: !q-d'p -ﬁbrf L1 120
(A) | Medulla oblongata | (B} Frontal lobe S ) R el =
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(C) Thalamus (D) Hypothalamus Vsl £\ (2) Nl (&)
121 | Length of the spinal cord is: e WSS | 121
(A) 10 cm (B) 20 cm 20 cm () 10 cm (th)
(C) 30 cm (D) 40 cm 40 cm (2) 30 cm (&)
o :’:::1 I:llr:'ni: :nﬂ-: upies regions of receiving information q-ﬁrwﬁl-h Lfdf:arh"‘:falr-,-!f -
(A) Frontal (B) Parietal Sis () S/ (i)
(C) Occipital (D) Temporal Jost (4) o (&)
126 | The largest part of forebrain is: gt oty el 4 | 126
(A) |  Hypothalamus | (B) Thalamus Nl () | umE gl (wath)
€| cerebelum | (D) Cerebrum o o |5 e (@)
128 LI:::”IEI;: belongs to the senses of hearing and {— of J;‘:—W J g.rﬂi‘:‘#f -
(A) Frontal (B) Parietal iz {;-nl" et FS ()
c) Occipital D) Temporal ZRRR X0 L (@)
129 | cooninator. These ffectors re called: mamaw' #*Mmfuw 129
(A) Receplors (8) Coordinators 20 ) I ()
(C) Effectors (D) Response 'f"JE;.Ef § 2) 3 (&)
130 | The outer most layer of a human eye consists of: <] " e 0P sh s FIU | 130
(A) Retina (8) Sclera.. } 1 () e ()
(C) Cornea (D) Both band o .. | " Ui (5 gd (&)
131 | The middle layer of eye ballis: " " " e O b s EFT| 134
(A) Sclera ® | < enorgs o («) £ (<
(C) Retina (D) - ITIS .- vl (2) L (&)
134 | There is a round hnla in. the ce*-ntre uf ah iris called: :4_“'; Eﬂ.‘-'-‘ﬂb-fﬂ.]ir -Eiuﬂufk'ffﬁuf ZT| 134
(A) Pupil ::.{ﬁ}"'-- % Sclera & () L (i)
© |  comea, |9y . Chorod s ) o (©)
135 | The middle }a;.rer ot human eye is called: - 00 P S F1301 | 135
(A) smera ‘(B) Comea 2 («) £ ()
(C) F'upll - (D) Choraid = (4) S (&)
137 | In a human eye, there are rods about ......... lac: WL nh......... IJ" Utﬂéu' 137
(A) 100 (B) 125 125 () 100 ()
(C) 200 (D) 225 225 (4) 200 (&)
138 | Rhodopsin is present in a part of an eye: Bl mzr k2 LI s 138
(A) Rods (B) Sclera et ) it ()
(C) Ligament (D) Fovea L (5) 2 (@)
142 | The name of pigment found in cornea is: re-pbesflbi il | 142
(A) lodopsin (B) lodine 3T () kg T ()
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(C) Rhodapsin (D) Tapetum A (5) ke (&)
143 | Who described 130 diseases of eye? t e A AN300HT | 143
(A) Ali Ibn-e-Isa (B) Newton s (w) s ()
(€) | Jabber bin Hayyan | (D) Al bin Mussa 5o (2) ol (&)
i :j;;il'ttl ;:::m hearing, ear also perform this major body PR & sfr‘ﬂff meﬁié_ﬂ o
(A) | Hormone secretion | (B) Body balance att] () A =
Reduction in nerve B
(C) pressure (D) All e () LAl (&)
147 | Which separate middle ear from inner ear? :4;-43M =—t=—'_i13mﬂf s 147
(A) Stapes (B) Ear drum oy ) | ()
(C) Tampanum (D) Oval window ks as () . L'J ©
148 | The eyes of dogs and cats shine due to the layer: MHJJJURE'& Jﬂﬂmi 148
(A) Tempanic (B) Tapetum o [v] et B ()
(C) Tapicum (D) Plueral u'fr.L: ~4 1. :‘1-' s €
151 | Owls cannot see during day time due to deficiency of: é,{;ﬁ I HLh | 151
(A) Cones (B) Rods e ) i (3
(C) Cornea (D) Both A and B | ""'-._,-.,fa_-l.,'.l{__,wi.,__{.h.l_:iir- () oS (&)
157 | lodopsin is present in: F e bmzrgnldT | 157
(A) Comea (B) Choroid | o LS () g.f ()
(C) Cones (D) Rods o % | (2 2 (&)
s III'IET;II]&F ciency of this vitamin cauaf ;ITr mght . = »..lﬁ"’ Muﬁ’fﬂs .:.d( JJE :u"l 58
(A) D @ | o o c () 0 ()
() : @ 4 A A ) B (@)
- ::’r;; wrote three biiuukf on f‘.ujrgar.y a..l.'ld diseases of : J‘WJMJ&J@-‘ S "
(A) lbn-e- Haylhem fB} Bu-Ali-Sina b () r‘?'ql"cﬁ' (i)
€|  Aiibngsa. ""'{_B]ﬁ'ﬂ - Abdul Malik Asmai s ) el (®)
160 | Insulid and glunagun are produced in the: tuZ- oWt | 160
(A) Hypmhammus (B) Anterior pituitary Uil 2 () JEA ()
(C) Liver ™" (D) Pancreas A (2) k£ (&)
162 | Controls the secretion of pituitary gland: /TR ESI506 | 162
(A) Grey matter (B) Cerebrum s ) e ()
(C) Hypothalamus (D) Thalamus Seud (5) il £ (&)
163 | piutary gland seeretion: HPEEIG G ISl Lownr | 163
(A) \ersopersrin (B) Insulin G () e ()
(€) TSH (D) Oxytocin ST (2 TSH (&)
Which hormone causes contraction of uterus at the
164 | time of birth? fethss WL F Lyl Pugor o | 164
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(A) Thyroxin (B) \lasopression gL («) il =
(C) Oxytocin (D) Calcitonin e (2 i (&)
166 | Hormone increasing level of calcium ions in blood is: tetby S T(,?S’ Luturibod | 166
(A) Adrenaline (B) Calcitonin vz - Pt ()
(C) Paratharmone (D) Oxytocin AT (2) I (&)
Which is responsible for puberty and voice pitch
167 | lowering in male? te e onf tnS TN g £ | 167
(A) Estrogen (B) Progesterone clr 2%y () vy (i)
(C) Testosterone (D) Glucagon o/ () o (&)
168 | In auditory canal's wall special glands produce: LELHWMJHJLM!JMLFJ 168
(A) Wax (B) Blood’ A (o) ¢, __ (i)
(C) Auditory fluid (D) Nerve impulse JE s N u‘% 5T @)
This hormone is secreted in case of emergency ’
170 | situation: f-rmn.#wm"’zﬂur&f 170
(A) Pancreas (B) Glucagon u'Jﬁgf [vi L A (=)
(C) Adrenaline (D) Calcitonin B2 j_--{,;}.-- T (&)
172 | It reduces the amount of calcium ions in blood: ERT L il Tl"g‘( Sud | 172
(A) Calcitonin (B) Parathormone g | () s (th)
(C) \/asopression (D) Oxytocin F ST (2) Ry (&)
173 | The Iargest endocrine gland in the human hndy is: ’ ‘ , : ;*._‘a_.l’ ﬁﬁﬁk‘?f’—-v"{-ﬁiﬂ Lo | 173
(A) Adrenal gland (B) Parathyrmﬂ gland S5 S ey (w) af feun (bl
(C) Thyroid gland (D) Pantréas .. % (2) S (&)
Disease caused by deflclency nf mdine m funrd Is 7
179 | called: S Ty e vl g S S TR A | 179
(A) | Diabetes mellitus | (B) .| HypEﬂhymmlsm AL SE £ () J# ()
(C) Dwarfism _.--{-D}l_ Gmter * (2) ek (&)
180 | The symptoms of Elahetes me‘rljtus are except: it uedb§UF ikyas | 180
Weakness.of | R L P
(A) muscles_"._ (.B]-.. - Fatigue < () SuA 4 (i)
F'I'ﬂﬁ-'fﬂm Jl"r - - - i 3
(C) Ereé'thmg (D) Weight loss U () =i el (&)
All these are tha parts of axial skeleton of humans J’L‘ ; _
181 | except: . et gobE SRSy | 181
(A) Ribs (B) Sternum £ () ks ()
(C) | Shoulder girdle | (D) Vertebral column A6 (5) Sl (&)
186 | The hard outer layer of bone is called: -0 27 IS4 | 186
(A) Spongy bone (B) Cartilage A () IiF 5 (wth)
o0
(C) | Compactbone | (D) Epidermis gy 2) £ (&)
187 | The mature bone cells are called: :&'-“K'lr"fa*' GLsh | 187
(A) Coenocyles (B) Monocytes Ly () S (wth)
(C) Osteocytes (D) Bone marrow 2L (2) sl (&)
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188 | Which one the following have exoskeleton? e tnt it et | 188
(A) Arthropods (B) Birds — () Jigs A (i)
(C) Mammals (D) Reptiles Fl () M (&)
189 | The skeleton found outside the body is called: «.‘-l'“t"c)"'? iyl | 189
(A) |  Endoskeleton | (B) Exoskeleton et (w) Bl ()
(C) Hydro skeleton (D) Fibro skeleton 52 (2) i (&)
195 | Which bone is a part of appendicular skeleton? J;-Jh"w Jf&it.ﬂu‘ ol 195
(A) Skull (B) Vertebral column A s () 57 (it
(C) Sternum (D) Pectoral girdle LUk (4) o F (&)
196 | The smallest bone of a human skeleton is: {-U-?J’fﬂ-*-'miuﬂ 196
(A) Stapes (B) Incus S [-;-:' ) J‘f K =
(C) Malleus (D) Vertebra gs | ""-lal_":" Rl (%)
197 | The biggest bone is found in our: i ‘MM&E—HJJ"‘; Lol | 197
(A) Thigh (B) Hand Py e |, 0 (w3h)
©) Leg ) Wais TP N ©)
20s ;I;I:e part of bone in which blood vessels are present e L‘* Ptz L | 2
(A) Spongy bone (B) Compact bone _ w‘w‘E:;’F () i =
(C) Bone marrow (D) None _J:f i (1) 19 ¥ Sk (&)
- E;Hé;:ls present as a cover on the ends uflnng ., Sy, 2 J...iﬂ,;u: o Lf!:* 205
(A) | Hyaline cartilage | (B) Ela Ehr: tral‘hl,agﬂ £ K L (o) &5 K ([
(C) | Fibrous cartilage | (D) 1nelast|1: J:artilage o KL (4) B KU A (&)
206 | There are also fibres in the matn:-mf narlllage called: L adS 1AL S LN 206
(A) Glucagon (B) | - . “Instlin G (+) o 6E ()
(C) Collagen {ﬂ} '-._'I-.I-.-I.-_..I-EIUIQUFIE ¢ (2) By (&)
207 | The end of mUEcIe Eﬂaﬁheﬂ vﬂth mu\reahle bone is: et e bmZ A4S 7 47 | 207
(A) orign .~ L@ T~ Flexes A () oo ()
(C) Tﬂsemﬂrr {D} Extensions e (2) o (&)
. ;::: ::15:1 r}’isﬁil.?tal muscle attached with immoveable btz i P B 1ok " '_P:‘ o
(A) Static end (B) Belly S (w) Sl it ()
(C) Insertion (D) Origin ofus (5) o A (&)
The disorders in which there is an accumulation of
210 | uric acid in joints. et st Rl ke | 210
(A) Gout (B) Rheumatoid arthritis VAT () <56 ()
(C) Osteoporosis (D) Ostec-arthritis A T (2) J 2 (&)
211 | Deposition of uric acid in joints results in: :-,‘-JM#MM!U:U{# 211
(A) |  Ostecarthritis | (B) Gout = («) LR T ()
(C) Osteoporosis (D) Rheumatoid arthritis A TR (2) grg (&)
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This disorder involves the inflammation of the s
212 | membranes at joints: e OestcP iz A onr o 12ES AT | 212
(A) Gout (B) |  Rheumatoid arthritis alP V) () < ()
(C) Ostegarthritis (D) Osteoporosis riL (1) U T (&)
213 | Osteoporosis is a disease of: (e GaliT g | 213
(A) Bones (B) Heart SUs (<) Juz (wt%)
(C) Stomach (D) Brain St (5) T (&)
214 | Generally gout attacks the joints of: :q—éf,.l?.;f PPl | 214
(A) Toe (B) Hip -y () Loy ()
(C) Ankle (D) Hinge g () L (&)
’s :.::::3?13 :usad by the shortage of estrogen . #ﬂ#ﬁu / .;.{j‘) Jﬂfwrﬁ—f 38
(A) Gout (B) Osteoporosis sy fe)-) i ()
(C) | Rheumatoid arthitis | (D) Osteoarthritis ST ""E:i'."' R TN (&)
216 | s ransmited to et i knownas: :q.uv’qvhm’u@w_fmwu 216
(A) Reproduction (B) Respiration & -_x o ) SRy ()
(€) Reduction (D) Circulation ::j"""'--ca.f"?';'-;f e 5y (@)
o B Tt csinde]
(A) |  Fragmentation (B) Spores . | iy () ’f:'- (st
(C) Regeneration (D) Budd Lﬁg 1. Y (5) R (@)
224 :‘grﬂ:sg e .._hué,sfm CIE LS LRI L s | 224
(A) Regeneration (B) Frag n‘lan{atmn b'ff;";;-:‘ij () ety (bl
(C) Budding (D) }-. E!lnarg haslun SEA (5) g (&)
225 | Rhizopus mpmduces ase:ua‘fl_\r_y the pmness of: :-t:&ﬁ'-dﬂé?ﬁkz! Lo | 225
(A) [ Fragmentation AB). |- Euddmg e () ”H** / (wth)
(C) Corms.. 1 {D} Spnre formation o s () raf (&)
230 | Cloning s Tatest method oF: e KN s B¥ | 230
(A) TIE-EI.JE f:ulfme "h{E} Vegetative propagation S () A ¥ ()
(C) Cuthngll . (D) Grafting S () & (&)
5 [{j;nr:fliggt:ﬂezt:hre new plant from part of the original w%'ﬁ J"hga.ﬁ Jrim; 21
(A) Budding (B) Regeneration A () 4 (<)
(C) Fragmentation (D) | Vegetative propagation S (2) . (&)
232 | Pollination is the transfer of pollens from: —hi ot g Kz) I.)J s e* “J¢ | 232
(A) | Anthertostigma | (B) Stigma to anther P F (o) e A ()
(C) Sepal to petal (D) Petal to sepal (e (4) (Jra ST (&)
253 sr;g:;::elnps into new garlic plant. This is the -q-t'ﬂr( d’,-..::pr"mgL mﬁ_ﬁ f--ff 253
(A) ;:g:i’lt}fn (B) Regeneration & R () u?i"“ﬁ"-’j (il
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(C) Meiosis (D) Gametogenesis szl (5) S (&)
234 | After fertilization in plants, the fruit develops from: tebhe o oL F I Luny | 234
(A) Ovule wall (B) Ovary wall ST (w) e g d o ()
(C) Petals (D) Anther e (s) =k (&)
235 | Growing a new plant from any part of a plant is called: Ma)i’i-ﬂxﬁ-ﬂndu‘u’ ﬂ-t-a{ 235
(A) Budding (B) Regeneration u: 2 (w) -u ()
(C) Fragmentation (D) | Vegetative propagation PRIy (2 Ve (&)
236 | Which one is an artificial vegetative propagation? T{-c;:z:"é'fﬁdf" M el | 236
(A) Bulbs (B) Corms o (w) L (=)
(C) Rhizomes (D) Grafting i) (1) fuu (&)
238 | Which plant reproduces by stem tubers? fﬁfdﬁ!wéuﬂ-ﬁlffﬁy i::l-*wf 238
(A) Onion (B) Garlic o7 A I-'@-.-J_ TR ()
(C) Potato (D) Ginger LR R LA (&)
242 | Vegetative propagation in mint takes place by: ‘Jﬂ-,'-&n‘" st | 242
(A) Rhizome (B) Corms ek ) o ()
(C) Leaves (D) Suckers uf“ | () = (&)
243 Irtfs':mhnd IR popsEe PR pluml T el Lttt | 243
(A) Cutting (B) Grafting Hu W (w) .y ()
(C) Bulbs (D) Corms”™. | () » (%)
244 | Female reproductive part of a flower Iﬁcaﬂed _'_ fwfﬁﬂuwdﬁ 244
(A) Androecuim (B) Gynﬂecmm . 3¢ (w) F“"j - ()
(C) Calyx (D) Enmﬂa ' s (2) S (&)
255 | Flower of which is pulllnatad J:qr wmt!l'-" tedne i slimpt A | 255
(A) Rose LE}[ " Sunﬂnwer LS (o) S f =
(C) Grass !"'ED}.I"' Butter cup LEAF (2) S (&)
256 | In the pnllan tuhe th Ere are. prasant :dlﬁﬂfﬂva {| 256
Tube puicleys, and a | Tube nucleus and two _ PR R R
(A) “sperm -=|[E} sperms it et L | () | fa L™ fodd LT | ()
Two tube m._lr:ie,ranﬂ Two tube nuclei and two ] .
(C) one sperm. - (D) sperms rvadficdn | ) | rediaddicdn | (B)
257 | Microspores are produced hy: !ﬂ.’-MLmﬁ-ﬂ#"bg V| 257
(A) Mitosis (B) Meiosis S () Sl ()
(C) Fission (D) Budding £ (1) S (&)
258 | Ovules after ripening make: =I.EL&#!£4J$! 258
(A) Fruits (B) Seed & () S ()
(C) Roots (D) Eggs - (4) U7 (&)
259 | From which part of the embryo root is formed? ?45-13"2&-51/ Lia| 259
(A) Plumule (B) Cotyledon U3¢ () Jrdk =
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(C) Radical (D) Epicotyle JSesg (2 Loz (&)
260 | Microspore in plants is also termed as: iq'-—r*‘br’ﬂl*#'f L2y BUnd | 260
(A) | Pollen grains | (B) Pollen tube iy () s ()
(C) Germ nucleus (D) Mega spore 4 (2 Ul (&)
261 | The scar present on seed coat is called: !f-ﬂkf Ry {-b"(i" 261
(A) Micropile (B) Integument o) [w) S £ (watl)
(C) Ovule (D) Hilum d (s) Joe (&)
266 | The outermost whorl of flower is called: :r-t'mj-!&vﬁ:--r-"ﬂff 266
(A) Androecium (B) Calyx A (w) f’ kel ()
(C) Petals (D) Corolla s () __ Jf~ (@)
- ;I;l;i ﬂalr;t in which vegetative propagation occurs by ot %@FIMM@H{“ -
(A) Garlic (B) Ginger EAT NN 3 o ()
(C) Potato (D) Bryophyllum *”lu::u ‘3-'._'""{:1 o (&)
There is a scar on seed coat where the seed is
268 | attached to ovary wall is called: Méfi ﬁ!ﬂ?ﬁ-ﬂmiﬁdlmvﬂ{wfr 268
(A) Radical (8) Hilum e T M) »39 ()
(€) Plumule (D) Apicotyl N JLE' (5) Sk (&)
269 | Example of rhizome stem is: H eSOl | 269
(A) Ginger (B) Potato (w) gy ()
(C) Onion (D) Garﬁ-:: T R (3) p (@)
271 | From which part of the emhryu root is. fumim:l T.l-,_&“z.;-_..g‘_r( Lyl am
(A) Radical (B) F'fumule Jis («) 3y ()
©) | Cotyledons | (D) }-. ngnmms i Jeléy () ¥ ()
273 | The transfer of pnllen gralrlﬁ to stlgma I8 called: a,‘-rﬂr"t-’mﬁ 4:'-5' WS w’: 273
(A) Germination AB) |- Repmductmn s () -.f’:':f =
(C) Fertlhzatlnn {D} Pollination g (1) S (&)
274 | The latest me*lhutl of veﬂéta't'we p-trupagatmn is: bl J)H" . 274
(A) Eudﬂ}ng ":={E} Bulbs 7 (w) ()
(C) Cutting™. " | (D) Cloning ik s) -ﬁ’ (&)
275 | The male r&pruductwa part of a flower is: !f-a-"ﬁw-fiw 275
(A) Gynoecium (B) Androecium L () 3 =
(C) Corolla (D) Calyx S (2) s (&)
(C) Gynoecium (D) Corolla us.S (5) e (@)
50 LI:; ::Eag::p:le of flowers which pollinate through e St i f. ﬁd{dsﬁ«"-’dﬁ 250
(A) Grass (B) Hazelnuts Uz () s ()
(C) Willow (D) Rose — (4) e (&)
- ::lri :;Ef:-tatwe propagation in onion takes place . .J"I" W Lf,% ’51
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(A) Stem tubes (B) Bulb ok (w) 21l (i)
(C) Rhizome (D) Corms Z (2) eridhs (&)
283 | Essential process for continuation of species is: e S Pd LIPL 200 | 283
(A) Locomotion (B) Respiration oo («) o (i)
(C) Cloning (D) Reproduction Sy (2) &£ (&)
285 ?‘iﬂéﬁﬂeﬂ,a?gj'.f:uf;miJZ‘ESS;?'“ System tetSUrsd K M S o U P g Lol | 285
(A) Fallopian tube (B) Uterus S () Lyl (i)
(C) Vagina (D) Cervix e (3) Flas (&)
286 | Inside testes, the sperms are produced in: M%,-.u!f;-'_-{iﬂﬁz“f 286
(A) Vas deferens (B) Sperm duct iz () | u” ;Ef"-.e”f ()
Seminiferous . i K g
(C) tubules (D) Collecting ducts B -‘111"'--_ ;’::w% (&)
- :':1]::;‘.': ;: ;Ir':;e::?nells has haploid number of e Gx.lﬂk-;iﬂ {[;‘!‘!‘ Ju: JJ":-U e it
(A) | Spermatogonium | (B) Primary spermatocyte A f’uf 'f; _ "["1!} "':-"':--;. g ()
Secondary R Bt
(C) spermatocyte (D) All of these _ r‘if | _::-- REL iy (&)
- :11:::: ;:Ef ;I:; :glls of an ovary have diploid number nf. | !.g. f?-niﬁ‘lwﬂ Srvoditk S L o -
(A) Oogonia (B) Secondary DD{:}"tEEU-""...._..: . .v i () g o (wsh)
(C) | Firstpolarbody | (D) Egg cell ! -.--..'.'.'_'_'ﬁia?‘f'-:f (s) R (&)
290 L::lmglnsnﬁ?::: ﬁ:dﬂf reproducton m“? ﬂ}m _ P b g el n AL P S | 290
(A) Parthenocarpy (B) ParthEﬂﬂ genesls-:'_" S ) () hf*!':k =
(C) Tissue culture (D) Fjssmn o (4) A (&)
297 ::::Jf:gﬂf:ﬂﬂﬁfﬁw sﬁmm tet/Ursd 6 Liai§ oV fi¢ P galad | 297
(A) Fallopian tube - LE] Y therus vy () e ()
(C) Vagina a'{l‘,‘l}."" Y Cervix e (4) s (&)
298 | External fa'*'&'i'ii:atinn Sfeqﬁé.m-ésfiy in: Keg-Gnluinafiw ) 241 | 208
,E\n‘.fuatu: N L ) :
(A) en"nelrr:mment - |(B) Hot environment el () Sty =
(C) | Moist envirori mént (D) Dry environment Ll (1) Ll (&)
209 | External fertilization is found in: ie-QedyP it A4 | 209
(A) Fishes (B) Humans LA () o ()
(C) Birds (D) Mammals >0 (5) Jrdy (@)
303 | In these cells, haploid number of chromosome is: !i-éﬂ-i‘l#‘ﬁtr?ﬂ’uruﬂ* ¢l 303
(A) | Spermatogonium | (B) Primary spermatocyte e A U A () S =
Secondary
(C) spermatocyte (D) All () el (&)
304 | Double fertilization results into: ﬁ'-hu’-'-gﬁcv"’ Wit | 304
(A) Ovule (B) Egg L («) i (wih)
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(C) Tnplmr? u?:?;unsspem (D) | Diploid endosperm nucleus X skt b O | Aoz | (8)
312 :::ﬁ:: :ﬂzlrrl]?n?r;ame ORI S Pt LgS s | 312
(A) Cat (B) Rabbit i () i ()
(C) Monkey (D) Dog L (2) 4 (&)
13 ;I;Ih:E::;E :E: ;f:;ﬁ'lanj!y which deals with the study of : q-&lr(eq..flf.dbfﬂnﬁﬂf-mfﬁfﬂ 13
(A) Taxonomy (B) Genetic engineering L B = Sk (wsh)
(C) Genetics (D) Both A and B LIPS () S (&)
The process in which genetic material of one wwfu:yﬁﬁ#ﬁm#hfw‘f"
314 | generation is transmitted to next is known as: | 314
(A) |  Reproduction (B) Respiration s () _'Lfffi'}:;-"{-';:- (i)
© |  Reduction | (D) Inheritance 2 (0N MR (&)
s l’;ﬁl;zr:mssmn of character from parent of offspring is Mﬁ F@uﬁ_&wﬂm -
(A) Inheritance (B) Mutation ff* ._Ee-j'l' | Y ()
(C) Regeneration (D) Reproduction i l-’}-'i:‘w" ) A (&)
316 | These are the units of inheritance: Ut | 316
(A) Canci (B) Alleles f 5 - o
(C) Phenotype (D) Genotype f:' flr“' () o (&)
318 | The process of formation of protein is: 14—“1'7" J ﬂ-*r-f-u'-’h: 318
A) | Translaion | (8) Dupn‘éaxién--"‘ | 5 () R ()
(c) Mutation O | . Replcaliorr -~ Pl ) Hr (®)
319 | Genetics is the branch of hmlug;r m whlch WEHudy: :uﬂl-fnﬂi‘r‘uﬂtﬁ-f—f#“trﬂﬁ:iﬁ 319
@) | Funcons | (&)Y . Fossis > (=) i (<)
(C) Inheritance | (D} * Emluuon A () A3 (&)
320 SSI:: iﬂiﬂ‘:&ﬁ!ﬁﬁﬁ?g ?tI:a “mL D < O PSS ol b Sare ki | 320
(A) Gem::fype :.fB_]"' “""" Phenotype L (w) T ()
(C) I"iar:.fErL}fpﬂ . {D} Physical type Al () ed (&)
322 | Chromatii matﬂrial is made up of: “gbataeflo) | 322
(A) Protein ~ | (B) DNA PR () Oy ()
(C) | RNAand protein | (D) DNA and protein G2 gl eI (3) gt (&)
323 | Location of genes on chromosomes are called: 34-':1'!({‘“*’??-‘-'{?3’1‘J 323
(A) Loci (B) Alleles ) - i ()
(C) Phenotypes (D) Genotypes 5 (2) T (&)
324 | Genes consists of: i 7| 324
(A) RNA (B) mRNA mRNA ) RNA =y
(C) Protein (D) DNA DNA (5) Fry (&)
325 | Inherited characters are called: 3I.E{J|-|!(-=;|-,Hﬁ il 325
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(A) Genes (B) Traits SR () s (i)
(C) Genetics (D) Fertilization IR (s) S (&)
s R | it |
(A) 22 (B) 23 23 () 22 (i)
(C) 24 (D) 25 25 () 24 (&)
- Lna:*. ::;:Iansume, DNA is wrapped around a protein o8 &#w f M&;-{Wﬁkpﬂr‘r .;‘ﬂ-.&'r 428
(A) Insulin (B) Interferan 2l P () e (%)
(C) Histone (D) Hemoglobin ik () i elet (&)
DNA wraps around a histone protein and forms a gﬁﬁ"“‘«‘c} JA JMM”EJMWH%m
329 | round structure called: Q o w329
(A) Polysome (B) Nucleotide Ry fvi r‘ "J'i ()
(C) Nucleosome (D) Phosphate o H i iy (&)
330 | Model of a DNA structure was presented by: ﬂ-"ﬁd-i./ A st | 330
(A) Mendal (B) Watson and Crick " i "‘ TR ()
©) | charesDawin | (D) C.D. Buffon ; w o L) e tss e (&)
s34 | andguanings e O ] fmnu’uni'wu&nfnﬁmrﬂ 334
(A) Two (B) Thee ¢ <2 LW ¥ () ()
) Four (o) Five o ' Gy () e (©)
336 | The alternate forms of gene are called: -:'_'_'-: . hd S A Sttt | 336
(A) Alleles (B) mtemawes i al ) ) ()
(C) | Multiple alleles o] Eharacters":_-.._.--" s (s) PNy &)
337 | The alternative forms of ge g_hé are. &alled . Ut et | 337
(A) Chromatin .(B) [ - Afidles K () oo (i)
(C) Locus il'.'l}l (o ‘Histone Clag (4) Y (&)
338 Alternatwe idn'ns nf all;'lﬁlalr_é"b:.:alled: :u.nﬂu?mdﬁf;ﬂnﬂ-ﬁ 338
(A) Males {E} " DNA — (w) < ()
(C) Ehrnmnsmnes -1(D) Gametes S (1) et (&)
339 | In DNA nunlar,:-t‘ide ....... Joins with guanine: !-f-awfuf - ﬂﬂx&’-’-‘:{ﬁi 339
(A) Cytosine (B) Thymine A (o) o AL ()
(C) Uracil (D) Adenine BalsY (2) S (&)
40 ::g :ﬁe;:rm combination of genes in an individual is : %ﬂk@ﬂf i | a0
(A) Phenotype (B) Genotype U5 () HH ()
(C) Homozygous (D) Heterozygous e (2) s (&)
3 I:;EEI;Iysmal appearance or colour of an organism is ot Lf.d._aibdﬁ s AM" ”
(A) Genotype (B) Karyotype LA () T ()
(C) Phenotype (D) Physical power e () o (&)
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[ | e speergmiing |
(A) Genotype (B) Phenotype s () v (et
(C) Karyotype (D) Genome rHE () id (&)
343 | Cytosine always form a link with: :i-l}*d-’f-ﬁuﬂ" File 343
(A) Thymine (B) Adenine Bt} () et ()
(C) Guanine (D) Uracil Jg (s) i (&)
344 | The location of gene on a chromosome is called: DI L2 g Lyrrs) | 3u4
(A) Genome (B) Nucleosome vy () e (stl)
(C) Trait (D) Locus S (5 e (@)
347 | shape ot pod colour s called: | e dHPK meaumm-ﬁ 7
(A) Karyolype (B) Genotype i '[-'_'_1.-"']"-. 2y & (i)
(C) Phenotype (D) Chemical type ks H = (&)
348 | Albinism is alan ......... trait: " e didnkieA | 348
(A) Dominant (B) Recessive -J“ fqvl G (st
(C) Co dominant (D) Incomplete dominant -ﬂ***m.”'l« --"-'-L] siitded (&)
349 | Dominant alleles are represented by: | et N | 349
A) |  Smallletters | (B) Capital letters _’ a_u_ (+) N, ()
(C) | Roman numbers | (D) Numerical numbers - e sl () A (&)
351 | Scientist who developed law of seg_gatmh R L L«E“‘{.;"EJE: STl s | 351
(A) |  John Methew | (B) Gregnr Mendel S £ («) e ()
(C) RC Punnett (D) ~Chariés Barwii- S e (5) oy (&)
352 nn.ﬂ'm“é'gf'.lf:f,fl?ﬂi’n'f;?"fﬁ"ff.'f_”*ff_“’-'f.-’f‘ il ot sl eS| 352
(A) Gardenpea  |-(B]. .I-_""':":l'fﬁh';atﬂ A () F (watl)
(C) Potato (O] ."Cabbage G () i (&)
354 | The term tmé'hreed-i"i'*rg}ﬁea:'n_{g"' g W h /LI | 354
(A) Hﬂ,mmﬁ'gﬁﬁa__""---.,__ =:f'|:'..E'}. | Heterozygous e () s =
(C) R ) Different — (1) G L (&)
55 ::rl:iﬁ?rgamfw has short but fast life cycle by el oo rr a.!’i.-—...z'fuﬁ:y S Ly >
(A) Ginger (B) Pea # () ol ()
(C) Onion (D) Tulip 5 (2) e (&)
A cross in which one character is studied at a time is Mﬂt&%ﬂhrﬂ#@hﬂﬁhﬁﬂﬁd{ﬁ
356 | called: = | 356
(A) | Monohybrid cross | (B) Dihybrid cross S A () S A (i)
(C) Test cross (D) Back cross S () S/ od (&)
An organism has two different alleles for a single S Lrsty K g Latr® ik At
361 | trait, its genotype is: 1Ll w7 | 361
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(A) Homozygous (B) Heterozygous N («) s =
(C) Homologous (D) Homozygous Hiwn (2) Nl (&)
368 | Human blood group AB is an example of: e JoLIAB o/ Bt | 368
(A) d?:iwuni]npsltitfe (B) | Incomplete dominance ST () S (i)
(C) | Co-dominance | (D) Recessiveness S 2) St (&)
369 | The example of co-dominance is: e JOSUs8S | 369
(A) Blood group A (B) Blood group B B+ () A/ ik (i)
(C) | Blood group AB | (D) Blood group O Ocs/ 2 (2) ABs/ ik (&)
374 | An example of discontinuous variation is: e Jedetd S 2| 374
(A) Height (B) Weight e/t o) ,a __ ()
(C) Intelligence (D) Blood groups stk __H.,.‘. _,lr (&)
375 | The anti evolution idea is called: ___...----...'ﬁj';..-..;__"rcr.;_}_wm;.:ﬁ 375
(A) | Breeding theory | (B) | Special evolution theory G i:-.. . fq-r] Pl i =
Theory of special S R R
(C) creation (D) Darwinism T :_---;,,}..- TGS (&)
- l’:;} rtﬁ;':::a|rt|1’n::|al selection was expressed by the T JLJJHLML— falﬂ‘lJﬂ;{!P“ -
(A) Aristotle (B) Theophrastus -, M TR () £ ()
©| coBuon || AbuRayhanBairuni. <] | "1:..._,;:_.;¢Ln 2 () s (&)
Who proposed the mechanism of organic evnluhun if-] e .
377 | 18387 LSRN i WY £ K SN L1838 | 377
| Mendel | (8 an errnu‘t o Y () Jrr ()
(C) | Charles Darwin | (D) Euf&:m o () e e ()
378 | In artificial selection, the bred ptants ara callmat WSS FrolP it S~ | 378
(A) Breeds (B) * . Mutatmn S (o) ik (i)
(C) Lichens [D}I | vanel.IE$ or cultivars el (5) o] (&)
381 | Darwin proposed the:'thgﬁ" ﬁf WS BEF Lot | 381
(A) | Special cteation (B] Natural selection b () H (i)
Use amf dISLIS'E Df L » " “
(C) organs - . {h} Mutation ChEY ) | JeS e | (B)
- ;:ehlli:;c:; Il':?l;mat :selection” written by Darwin was : J.H &“j& J;j“ -,-ﬁ'fj mfﬂfu.—..-lf -
(A) 1859 A.D (B) 1860 A.D 1860 A.D () 1859 A.D (wbh)
(C) 1959 A.D (D) 1960 A.D 1960 A.D (2) 1959 A.D (&)
383 | Theory of natural selection was presented by: AW Jn;.};ﬁ 383
(A) Aristotle (B) Lamarck A (o) A ()
(C) Darwin (D) Malthus Vel () a3 (&)
384 | Such plants whose breeding is carried out are called: W e/ £y edfgn | 384
(A) Cultivores (B) Breeders e () ng” (st
(C) Camivores (D) Insectivores i () Y (&)
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Which of the following is the abiotic component of the

385 | ecosystem? tefir b K bie Atsts | 385
(A) Producers (B) Herbivores bl () i g ()
© | camivores | (D) Oxyger Gl ) K (®)
386 | When was eat onions, our trophic level is? te ol U MM B e | 386
(A) | Primary consumer | (B) Secondary consumer P1F S () rEFEAy ()
(C) Decomposer (D) Producer 7134 () s (&)
| e T T I
(A) Mycology (B) Physiology G A (w) S ()
(C) Ecology (D) Morphology G o | ek (©)
389 | All the ecosystems in the world together form the: Y 4#"13 "f }"" £W£E—* 389
(A) Population (B) Biosphere A {é_f]---_ 'uf" e ()
(C) Community (D) Habitat o et G (&)
390 | Biotic component of an ecosystem is: ) +-ﬁ--fﬂl'r"" £ 390
(A) Light (B) Water ﬂ'L f-rl A (st
(©) Air (D) Plant g R » ()
391 | Which one is not biotic factor? o b e Bbieiedtr | 301
(A) Plants (B) Animals -, g (+) o ()
(C) Soi (D) Bacteri I I (3) g (&)
392 | An abiotic component of an ecosystem is:” e ﬁiﬂdf‘"’ :E’Ur 392
(A) Producer (B) cunsumér | v ) s (i)
(C) Decomposer (D) Lrﬂht A (4) PRt (&)
i :'it:::s:l; r::l: following is tlhe ahllr.utlr.-.pal.'t nf the f.;.,.-u-..é';l,‘_.#' r}"’ Ty -
(A) Grass |-(B). - Goal 17 ) J ()
©) jon oy sl s ) 2 ©)
395 | Which nne,ig'amnié&éﬁnémﬁ%ﬁ? te P8P hudeler | 305
(A) Frog 48y | Rabbit i (+) e (i)
(C) Wl ‘D) Lion Py (3) L @)
396 Decnmpn:;‘.-ﬁ'r;; are wminsdss | 306
(A) Algae (B) Mosses oy (+) g (o)
(C) Animals (D) Fungi and bacteria L2y (5) A (&)
397 | Which animal is a primary consumer? 7{-;'{?’:5/ '%l-ﬂf 397
(A) Grasshopper (B) Frog e (w) s (¥
(C) Lion (D) Fox S (5) Z (&)
398 | Which one of these is not a tertiary carnivore? ?d,‘-lﬂ’ M Pl ke | 398
(A) Lion (B) Tiger A («) . (il
(C) Snake (D) Leapord v (4) -V (@)
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399 | Itis the example of a tertiary consumer: 4—#&"&’3 /| 399
(A) Wolf (B) Snake - () LAY (i)
(C) Lion (D) Frog Sk (2) & (&)
400 | Which one of the following is a tertiary consumer? o tA8 0l e ten | 400
(A) Deer (B) Owl A () e (i)
(C) | Larvae of butterfly | (D) Rabbit i (2) K F (&)
401 | The smallest level in ecological organization is: ‘g p A e LIS I | 401
(A) Population (B) Species 2 () oy ()
(C) Community (D) Ecosystem T (4) o oL (&)
404 | For all the livin things the source of materials is: -;‘-ﬁ-‘r;kﬁéﬁu"ﬁh‘j{‘u 404
(A) Sun (B) Earth ot ) vf k ()
(C) Air (D) o i | "-'-MI'"' e (&)
405 | Primary source of energy for all ecosystem is: _ :a‘rwﬂi-ﬁ/l{"miﬁ £|rl? 405
(A) Electricity (B) Sun G, 'Eve} L g (w3h)
(C) Fire (D) Nutrients T o 0N (&)
406 | Basic source of energy for an ecosystem is: | -:1- AN EAL L £ | 406
(A Plants (B) nimals -, | (o) - kA
() Sun (D) Water  ©. 9| JJ; (5 v (&)
408 | Naturally found graphite and diamond is: . Bty Lbi iyt 3.4 | 408
(A) Nitrogen (B) Earbnrr s | A () PaF ()
(C) Oxygen (D) H}fdrugen--._ _':'-'.':I.' .- ot () S (&)
409 | The basic trophic level for all f:iud thiains is:. e b L MNSNKFI? | 409
(A) Producers GER Ennsumeré p () riing ()
(C) Decomposers__ |-(D). Eeducers LY () prts (&)
i E;T::tmn of mtntei arfel m.:trafule?- fmrn ammonia is ) .4,-.3 sxd, ﬁﬁ'mu-"jiﬁ:ayﬂ “
(A) Nllrlf cﬂllnn {E} .--""".""":'Amm onification -?(JF 7! () ;f:'{f;f (bl
(C) Dﬁnltm‘“ c'a.tmn - {D} Assimilation T (4) c?:&fi'-"-‘-‘ (&)
- ;I:: ﬁfgn::;::; ::_gf living matter in an ecosystem at :+ IS S satit [}_’ £ v&_: M -
(A) Food web (B) Food chain Batl (w) _— =
(C) Energy (D) Biomass et (4) godt (&)
413 | Big size mammals which eat honey are: LI 2 M Loy | 413
(A) Rabbit (B) Camel o () Ji? (%)
() Badger (D) Elephant iy () 3
414 | Mosquito, lice and leech are the examples of: 1&&-"'@@3'/4 414
(A) Ectoparasite (B) Endoparasite Ll Er il () Az (il
(C) | Obligent parasite | (D) Both A and B D () etz bl (&)
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Which relation exists between termite and protozoan

416 | is: T 2 AU s e nghidrgntos | 416
(A) Mutualism (B) Predation e - i (%)
(C) | Commensalism | (D) Parasitism pileAA s () szl (&)
417 | All carnivores animals are: (L smd Al | 417
(A) Parasite (B) Host =¥ (v) =a ()
(C) Predator (D) Pathogen ot (2 fa (&)
422 | CAn example of exparasite is: e JeSetis® | 422
(A) | Plasmodium (B) Cusuta eF () v (o)
(C) Ascaris (D) Mosquito A () A (&)
423 | Example of an endoparasite is: «,‘-&Mﬁiﬂ 423
&) | Plasmodium | (B) Mosquito A [u-l_ iy (ot
(C) Leech (D) Lice a2 Al (@)
424 | Example of endo parasite is: z;-MW.&tb‘ 424
(A) Leech (B) Lice LAl B ()
(C) Ascaris (D) Mosguito /"f .-:'.'.'{J:I J (&)
425 | Example of Ectoparasite is: _ :-,‘-Jﬂ"ﬁ:i;"-"ﬂr"g 425
(A) Ascaris (B) Entamoeba L*?"‘H () S (et
(C) Lice (D) Plasmodium -{5‘1"‘“ ' (1) 7 (&)
The amount of carbon dioxide in air is increased., 1. ™. ™
426 | since 1880: e g oy (TS0 215 1880 | 426
(A) 0.2 (B) g, o 03 () 02 ()
(C) 0.4 o e, 05 (2 0.4 (&)
431 | The non renewable resnur-:ea,a.}'é’-._.“" _ S Ussd e | 431
(A) Fossil fuels B) | o 15 () IENS: (wih)
(C) Water ) 1 7 sol 5 (2 & (&)
432 | Materials which -:al;"'again-_-ﬁe reusel:l are: :wLﬂeﬁLEﬁhle‘quwﬁi}: 432
W | pasics v L@ class 5 (=) £y ()
(C) G B Al o (2 % ()
o ﬂ?:: J:;r;‘:{;::i gatmgen is taken by the producers of TLELEL«M p oJf &’d‘:ﬁiﬂbiﬁﬁ" e
(A) Nitrogen gas (B) Ammonia L (w) SR F ()
(C) Nitrites (D) Nitrates SF (3) S &)

E I Lid s dynTer g L2997 LI
In Scotland, in 1997, what an embryologist lan Wilnut ULl her LALIEANT S

434 | produced from the body cell of an adult sheep? ?Jt«zv’r--;‘-‘ﬂw 434
(A) Sheep (Dolly) (B) Goat yx () (U2 =
(C) Cow (D) Buffalo Vel (4) ¥ (@)
435 | The pain killing chemical formed in brain is: e S P amd bl | 435
(A) Insulin (B) Interferan ol A () e ()
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(C) Thymosin (D) Beta endorphin o ity (3) o ()
437 | The human genome project started in: nln f2La b Lol | 437
(A) 1990 (B) 1991 1991 () 1990 =
(C) 1992 (D) 1993 1993 (2) 1992 (&)
439 | Which one is fermented food? te ot i Lo | 439
(A) Wheat flour (B) Powdered milk anslleabi () i =
(C) Vitamins (D) Yogurt L (2) bt (&)
440 | The work of genetic engineering was started in: :lﬂﬁwrfﬁ-ﬁtf B | 440
(A) 1943 (B) 1944 1944 () .. 1943 ()
(C) 1954 (D) 1955 1955 b | 7 1 (@)
441 | Human insulin was firstly prepared through bacteria: @’J&'#"—H-'"'ﬁ‘:' ; 441
(A) 1970 (B) 1978 78 | [..,.} ""'-.""rgﬂ:'r" ()
(C) 1990 (D) 2002 2002_ A-f-. < 1900 (&)
442 | The organism involved in alcoholic fermentation is: e Lﬂlﬂu“r"'/ﬂulﬁu"' )—‘fvﬂ; 442
Saccharomyces S :

(A) cervisiae (B) Streptococcus L r“w’ fﬂf _'.f'-r:' dund ewduk | ()
(C) Lactobacillus (D) Fungus ﬁ" (4) L (@)
In the first step of a glycolysis, one molecule of a ”": j"’”"q’(ﬂf’r Lk, KLAFE
443 | glucose is broken down into two molecules of: T 1'-""-'«/'"-:9 V| 443
(A) Citric acid (B) Lactic acld “J;» (w) S (i)
(C) Pyruvic acid (D) Formic ar.:n::— . s (2) ey (&)
” :‘.:icmnrganisms used in the pmldu.-:fiiun J;:ff‘l‘r.ui'rr?i-:"aclﬂ TSP P ™ ”
(A) Aspergillus (B) |-. | Saccharﬁmycaﬁ e () e ()
(C) Streptocaccus {D} [ - Bacillus L SEuE (2) b (&)
s ;I'Ehe mit:ronrganisnl].usi.}dffr*tl“m.-fnatlnn of formic acid L LSS har S s
(A) Eaccharnm’j,rﬁes 1-(8)- . Badillus et () bk =
(C) Asperg*ﬂua =:ti'|‘:|'}h' " Cocei N7l (2 S (&)
448 | Fu ngl u-sed in al::nhnl‘n fermentation is called: H,'-JHIJW J"'ﬁ )..ﬂ;;ﬂ'l.ﬂ;’iu 448

Sar;r:,harﬂnyﬁaﬁ p .
(A) carvisiag- (B) Basidiomyceter Fluk (w) s SV (i)
(C) Zygomyceles (D) Algin u}' (4) u’r'"ﬂ'-f‘f'i (&)
449 | The product used in printing is: e tSh gl s LBy | 449
(A) Formic acid (B) Acrylic acid LA () Ry ()
(C) Ethanol (D) Glycerol S K (4) JAE (&)
450 | To preserve fruits, vegetables and pickles we add: WBLSSCALLL S8 f..-;,l.m;_.n,__r J 450
(A) | Water and yogurt | (B) Salt and acid Lo L () Sl (i)
(C) Flour and salt (D) Onion and garlic Lot aslile () LT (&)
- I“r: cﬂﬁ?:ff :glur:nse molecule breaks into two et Lrlonn St Bt brnf k| s
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(A) Formic acid (B) Lactic acid’ )Y () LA ()
(C) Pyruvic acid (D) Acetic acid AL (1) LA SiFy (&)
453 | Used in the production of vinegar and beverages: et S n s | 453
(A) Formic acid (B) Ethanol JAs () I (i)
(C) Glycerol (D) Eclyric acid LA (1) oA (&)
455 | The source of lactic acid is most of the: I Ay 455
(A) Fungi (B) Algae i (w) 3¢’ ()
(C) Bacteria (D) Protozoans . () |25 (&)
457 | The industrial product produced from asperginus is: G 4:'?" l"’-hr'ei‘-ﬁﬂ-u"’ A1 | 457
(A) Formic acid (B) Ethanol W (o) | MLJ-;I.: =
(C) Glycerol (D) Oxalic acid ST b 1. e (&)
458 | This product is used in the production of soap: | #ﬂ&ﬂﬁigﬁb-ﬁsﬁ 458
(A) Glycerol (B) Formic acid L {":'] ' S A =
©) | Sulphuricacid | (D) Acrylic acid M-ﬂfﬁ ""-{4][-'5 z;,-.._,r’ I (&)
439 | In genetic engineering, plasmid is used as: *LELM-"' ":- Jnh'hb‘hfﬁf I | 450
(A) Vector (B) Endonucleases f—”f rfuc' | "-.{u-:' 1A =
(C) Ligases (D) Donor “ (4) A (&)

The hormone which may prove effective against bmln
460 | and lung cancer is: -

..;_D;'n}'r._uhﬁ,.ﬁf L wbhozgrie | 460

(A) insulin (B) Ligases o N («) A ()
(C) Thyroxin (D) Thyfmnssln oG () e (&)
461 | Itis effective against brain and Iung!.' cal‘mer :-;'-J’.ﬂﬁi..iiiﬁ-ﬁf iu:}ﬁ:ith 461
(A) Beta endorphin (B) I IntErfemn " R F (o) u:fiﬂi':'l“ﬁ =
(C) Thymosin (D) B Umhlnaﬁe g () o (&)
o ;I;he enzyme which.lisa:uﬁe.d‘ttif m’t .the gﬂne of interest et IR LENL L L uﬁ -
(A) Endanuclease 1 {E} Ligase Flu () Fiak )
(C) Amylase .[L"l} Lipase et () 2du (&)
463 | The enzyme used to mégmw blood clots is: e fni 3 U 1L | 463
(A) Uml-:lnaﬁes (B) Insulin ) () i ()
(C) Lipase (D) Thymosin oG 1) pnt (&)
464 | The treatment through genes is called: :q-FW,hf bS5 2 | 464
(A) Gene therapy (B) Chemotherapy T () drFef =
(C) Radiotherapy (D) Physiotherapy G (2) Sy (&)
The foot and mouth disease in cattle, goats and deer
465 | is: g A L anff sy | 465
(A) Bacterial (B) Viral J (w) 5 ()
(C) Fungal (D) None SNt (5 F (&)
468 | Human insulin gene was transferred into: Wbpi ot uﬁrj Wl | 468
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(A) Yeast (B) Bacteria S 2k (w) - ()
(C) Virus (D) Algae L (2 L s (&)
469 | Insulin is used by patients of: VA Y Y S udr’r 469
(A) Hepatics (B) Cancer A ) ol (i)
(C) AIDS (D) Diabetes gL (2) Y (&)
473 | Which of these is an anti viral protein? T{-b'swj'ﬂsz"-fﬁulfnﬁt# 473
(A) Urokinase (B) Thymosin B (w) K ()
(C) insulin (D) Interferon sl F (s) A (&)
475 | ......... is an anti viral protein: - g.l;fw.):b@l.g 475
(A) Urokinase (B) Interferon nd 2 [-1-} = ()
(C) Thymosin (D) insulin e b o r’tﬂ E (&)
- Lt:,;lgl?s :&nurﬁe of energy for all ecosystem of the +,.g;];; w{ M}"’" irrl.'-‘.f.g: -
(A) Bulb (B) Sun o [ [u-l -t ()
(C) Fire (D) Moon ﬂur N8 S (&)
477 | Single cell protein can be obtained from: {'-'---. -;.JHJ"' vetsg kB | 477
(A) Bird (B) Algae '.:_"';':L?f-- () iy (sl
(C) Cow (D) Insect | gl (4) ek (&)
The raw material for microorganism for the R P
478 | production of single cell protein is: u&i}’uﬁfﬁﬂﬁh&-&wﬁrﬁcﬁrﬁ S| ar
(A) | Industrial wastes | (B) F'mtnzf}ans . C Saidg () sf A (i)
(C) | Agricultural wastes | (D) Fur'lgt i (2) u"’;:u' A (&)
The substances used for the treatmiént; r.ture, _'_-.-
481 | prevention or diagnosis of dlsaase are. ;:alleﬂ, | TLE-LW’JPLMWL:# Wil | 481
(A) | Medicinal drugs | (B): Mamjtic:s Skl () o F ()
(C) Hallucinogens _.--{-D}_ Sﬂdatwes e (2) ARG (&)
483 | Stre ptnmw 15 ﬂbtamed frnm e e eetdiey | 483
(A) Fungl "'-{_E}"' .. *  Animals = sl («) =¥ (i)
(C) Beitert ~Jo | Plants uny () ot 2 (®)
484 | From Whll.':h pam hlﬂer drug morphine is obtained? Tq—J'L-JJEwéAc—ljhu‘ uﬁu‘r 484
(A) | Foxgloveleaje | (8) Opium o (o) | =257 | ()
(C) Fish liver oil (D) Fung ¥ (2 {721 (&)
485 | The drugs which are used to reduce pain include: :&@JMJ-M-N{HEG&!*’ 485
(A) Antibiotics (B) Vaccines s () A ()
(©) | Analgesics (D) Sedatives Iy () Nt (&)
486 | The pain reliever morphine is made from: !-,'-alrétcu)“ﬂ"m 486
(A) Heroin (B) Opium Ly () o ()
(C) Marijuana (D) Hashish J () hag (&)
- Z:es ﬁ irll:'uga:um::ﬁ:dr:educe the possibility of infections : «;-J/ rr oy ﬂwgq;m i
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(A) Antibiotics (B) Sedatives ik («) S =
(C) Antiseptics (D) Vaccines ) () SE (&)
489 | Reduces the possibility of infection on skin: :q.ﬁfr(ﬁ.,ﬁﬁw’p gk | 489
(A) Disinfectants (B) Antibiotics S A () .f”"f? 3 =
(C) Antiseptics (D) Digitalis ~5 (2) S (&)
- ::rltt;l; ;ﬁ;ﬁ:ﬁl}?:;}gmmmed the idea of sterile surgery Y P LSz s Lﬂff‘f I.L"LMP v 10
Alexander . .-

(A) Flemming (B) Al-Bairuni e () et (i)
(C) | JosephLester | (D) Alkundi Sl (2 f iz (&)
Joseph Lester introduced an acid to sterile the AFLUHLIMJJLAJ:F{#H&/LIJJJ
491 | surgical instruments and to clean wounds: L, :l-hfd.«w-idh.-ﬁ 491
(A) Carbonic acid (B) Acetic acid Al )] | -.,ii!_-f} (wetl)
(C) Nitric acid (D) Carbolic acid Ladyk M et B (&)
492 | Diazepam is a type of a drug: £ vﬁ'—(’ Md’iﬁﬁﬂﬂ 492
(A) Analgesics (B) Antibiotics J"{L; o) ()
(C) Sedatives (D) Vaccines '1’{: .-::" ) --{J:l it (&)
493 | Which of the following disease is cured by vaccines? X "{J"U’Lﬂﬂﬁﬁeﬂ efelen | 493
(A) Diabetes (B) Hepatitis-B Eu () 2 (i)
(C) Cancer (D) ADS ., ,"i::-"i::' (3) A (@)
494 | Penicillin was discovered by: . =*km" c.C."-’":" 494
(A) | amark (B) DamTﬂ Lot (w) LSA ()
(C) Robert Hook (D) .ﬁ]exander Flsmlng L Eek ik (4) Lf s (&)
495 | Drugs (medicine) derived from mmerals " LW S e | 495
(A) Morphine (B) 1. As;ﬂrln el () e (=)
(C) Antitoxins {01 *. TiitGture iodine T E (2) e (&)
ite 3:3;: ;asf :::I;:gumtmn *andhlrrle:lma?i applications of 18 ﬂ,,llrf.'.n. W et J.a.j;:j x
(A) Mymln G IE} 'I Biotechnology JAE (+) A ()
(C) Pha macﬁlﬁg‘y .l-':{i]} Physiology S () ELZIy: (&)
497 | The drugs nrq-du ::ed by pharmaceutical companies is: »{-JM J?L;l.-l:.‘ir LE’ A | 497
(A) Opium (B) lodine e T () e ()
(C) Aspirin (D) Antitoxins e s) oL (&)
499 | One of the drugs derives from minerals: '*'q'-&rl.m" bﬁ-fﬁ-"ii-{'ﬁu!fuﬁt:ﬂ 499
(A) Aspirin (B) Opium e (+) o 4 ()
(C) lodine tincture (D) Streptomycin o B (4) A T (&)
5001 ......... is an analgesic: | e ﬁ'—-‘-:-'M 500
(A) Diazepam (B) Aspirin el 4! () (ks (il
(C) Paracetamol (D) Both B and C SLIROR (4) Jrisis (&)
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5ot | itabilfy and exciement ar caled W el STt | sor
(A) Analgesics (B) Antibiotics A (w) S ()
(C) Sedatives (D) Vaccines =t () ik (&)
Which of the following drug is obtained from
503 | bacteria? teded St Somsus | 503
(A) Aspirin (B) Peracetamol Jrbis () e 5 (st
(C) Terramycin (D) Streptomycin o it () o JUe (&)
05 !tth ::rllléi :mn:rn«urgamsms present on the nonliving ddAl fhﬁr‘{»{ﬁ&ﬁ-— o
(A) Disinfectants (B) Antibodies I () .:'“'H I\ ()
(C) Antiseptics (D) Antibiotics S o | ;;;: # (&)
The cardiotonic known as digitalis is obtained from a _
506 | plant:q ednfla... S | u"ni&uxbfrr-ﬁ?fd: 506
(A) Acacia (B) Brassica o {hr*} L e ()
(C) Memosa (D) Fox glove S . I:"H._." Ld (&)
. zﬁfal;:‘il;lgi;gese addictive drugs are also used as fwﬂnﬁ'ﬂ#ﬁ‘ﬂuﬂ@wﬁﬁ u"f .
(A) Narcotics (B) Sedatives f’m {v:' oS x =
(C) Hallucinogens (D) Allcanbeused | B r «: () Pk (&)
511 | Mescaline is obtained from a plant: " te o bacays ez | 511
(A) Opium (B) cacs ] o () BE] ()
() Maize (D) Brassica, | () & ()
512 | Psilocin is obtained from: tednf by ¥ | 512
) Algae B) | P () d ()
(C) Bacteria (D) |- Mushmﬂm"’:- 1 (5) - (&)
513 | This group includes mescaﬂr’m anﬂ p‘-’i‘“ﬂtln xSdn et fh:rluﬂ"-:uﬂfﬂr v 513
(A) Sedatives ;-{E,‘l_ L Harr.:ﬂtn::s Sl L (w) ik ()
(C) Hallumnﬂg&ns 1, {DI 2 L7 Vaodines ot () Ak (&)
518 | The drugs used tﬂ redute pain are known as: tudW s Son | 518
(A) Analges-cs ":={E; Antiseptics S () S ()
(C) Anthloﬂg% | ' (D) Sedatives itk () A (&)
520 | Antibiotics ini'i'i'nit or kill the: i G | 520
(A) Worms (B) Viruses s () o ()
(C) Bacteria (D) Yeast L (3) LeE (@)
521 | Edward Jenner introduced vaccine of which disease? 80/ Daeurtad Loas/ L2 | 51
(A) Smallpox (B) AIDS' 4 () e (ot
(C) Hepatitis (D) Malaria LA (4) Wl (&)
522 uwalll.;l; :: ; of the following disease is cured hy '-"-q.-t&rk( a-c:tfrblﬂiﬂﬁ J#ﬂ 22
(A) AIDS (B) Cancer A () Y ()
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(C) Smallpox (D) Malaria LA (3) i @)
523 | The materials that was weakened pathogens: Mﬂffﬁﬂfi cw | 523
(A) Antibiotics (B) Analgesic S (+) A ()
(C) Vaccine (D) Quinine i f (2) s (&)
524 | The pain killer are called: U | 524
(A) Antibiotics (B) Sedatives T [w) ol =
(C) Analgesics (D) Vaccines ks () S (&)
926 | How many bronchi are there in the air passageway? ?mhdﬁqiﬂbﬁfﬂ 526
(A) One (B) Two 1 (w) ok ()
(C) Many (D) None =nt (4) " a__-»« (&)

Which is the correct order for the path taken by urine
527 | after it leaves the kidneys?

h:_L-u;,..-'.a_-ui.ﬂ}r MLM 527

Urethra, bladder, :

(A) ureters (B) | Bladder, ureters, urethra LA foag wL ..__[i;h]" . er* w" “i4 ()
Ureters, bladder,

(C) urethra (D) | Bladder, urethra, ureters f‘,f’:a:-'ﬁsa‘:uél-"--..,j--.__ | e AR ey (&)

| Gt

Q1.  Write short answers of the following
questions.

.J/ j..fw/“" Ly 5050

1.Define cellular respiration, YT N I W
2,How does gaseous exchange in plants take placﬂ‘? &y Tt < _,,,‘,-m,.{pgu,,; 2
3.What are stomata? Write their function. T Lyt 3
4 What are lenticels? What is their runctmh’f' . ", ;wrwmwk&‘-f 4
5.How will you differentiate belween 3 star‘ﬁa and Iaenhc:els'r' e Ly I /Lb/uﬂbgﬁ-j#hp‘_gff 5
6.Differentiate between hreathmg and T’J;'_!Eplr;?dlﬂﬂ LSVl it LA 6
7.Describe aerobic resplrat]nn 5, '_ i LRI Log T
8.What is the fu nc:n:::n of hairs, ar'n:i mumus in a nasal cavity? ¢ q-rb’k’fu"z*muﬂ LhddE .8
9. D|fferenuate hatwean nasal cawty and ﬁﬂStrHS te I LI L)E 9

10. leferentmte EﬁemrEenﬂ glnms and an epiglottis.

LSS BT

=
=

NN 2 How suund IS pruduced in larynx?

te-nslmits” 2

*
—
—

13.What is trachea? Hnw does cartilage in its walls keep it from
collapsing?

W lipe L F SIS Korr LostSne bl

=
[ %]

14 What are alveoli? Write their function. w, 7 e WA dlr‘ﬁﬂ b 13
15.What are pleural membranes? Write down their function. oY, fw pr LA w14
16.Define oxygenated blood. LI/ JM 45
17.What is the difference between inhalation and exhalation? te GRS PR
18.Differentiate between bronchi and bronchioles. < fJ IN- jj'_g, y »uim ¢ A7
19.What is emphysema? Give its symptoms. LS iody e icdd A8
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20.What i; Pneumonia? Differentiate between single and double _4 ) IR ,ﬂﬁm,ﬁ .19
pneumonia,

21.Define asthma and give its reasons. ", IM!JJ""%&‘J .y .20
22 Write down the common symptoms of lung cancer. ", fuﬂf-@m‘r"t; /ﬂ'—w Hg{ 2
23.What is passive smoking? How it is harmful? * ‘F—M )uf 1 ﬁ.__kr._,gf,.-,:; 22
24 \What is nicotine? What are its harmful effects? J Seloed osehd it q-l'@‘"! £ 23
25.How smoking affects teeth? fi_'}xﬂﬂ}]t, N {uf;k_ﬁ’,r 24
26.0efine homeostasis. Give two examples. 4_{,‘;.’&;5.,,_,4 S jll_;’,_,-:"' e .25
21 What is thg difference between osmoregulation and e );y-’u:ﬂé',f‘,f 7 M,E’,,r,. .26
thermoregulation?

28.How homeostasis of COzandQ; takes place in plants? ¢ q.J.n 4”0.«-“'_:.36’;3? #COz Luny .27
29.Differentiate between turgidity and guttation. ‘4 fJA#:F,:ﬂﬂir S 28
30.What is the difference between resins and gums? : ?4,'-;3 /"H'u-'- / sy 29
31 .Diﬁ»le;gnﬁale between hydrophytes and xerophytes. Give one i‘_{,‘_’]ﬁ. .I'rr ‘E‘J /’Lftﬁdyﬁ{ S Vel baudrp .30
g?tr:‘;?‘iné halophytes with an example. -&-{M S A5 ik 31
33.Define osmosis. g,i__kfbr’g,; 32
34 What is the difference between latex and mucilage? ted )kfvtd'f-':‘ ”U.EJ 33
?uﬁﬁa:; rnssl::?:n consists of how many layers? What are their L -I-E Sikes ,’,ﬁwf{_ﬂa mj,_ﬂ{ A 34
36.How skin keeps our body cool? -,-_-i._t;{,,_b,f‘.{,(lﬁ,f___,h* .35
37.What is the shape, size and weight of kidney? ?.;..r.-rla’;-,umrﬁl.-qf{ff_»f 36
38.What are the important parts of nephron? S e Tt :-wfwf-ﬁﬁﬁu’# A 3T
:3;3;;.’2:; tmp : r;:nal corpuscle? Write the nameﬁ I:FFJts twu _g,:-f AL Al Lyt VR 4K, 38
40.Differentiate between renal COI'[.‘JIJS-E|E and renaJ tubma ISIAY AN N IS T
41.Differentiate between renal u:nrfex and F&nal medulla NIAIRIEY m!u'g AF, 40
42 What is pressure fi Itratlnn“?' PRI Py ¢ M
43 What is glur‘nerular ﬁltraﬂﬁe'ir . r{_}(,;,;ﬁ_), ﬁ-,f A2
44 What is meantfh}r seler:twe re abscarpti'un'? How it occurs? tednlhe e e cfiamse” 43
43. DIffEI‘EHt]EﬂE hemEen pres%re filtration and tubular secretion. NIAINE. Ko P Ao 44
4E.D|fferenuﬂle bet'.i.faen _|_’1I|LIS and pelvis. “ J3 }gﬂn,.f)s;ﬂuf& 45
47 Write down any twd major causes of kidney stones. LS Mk fc'”‘;'j Al sS 46
48.What are the symptoms of kidney stones? “ IMJL? ﬁd’é_,j' AT
49.What is lithotripsy? TelfiF A 4B
50.Write contributions of Abu-al-Qasim Al-Zahravi in biology. ISP AP NP EIEL 49
22.What is meant by dialysis? Write the names of its methods.” ..;,t.'f ALuRS LA Al 50
53.What is kidney transplant? te i . -r-.:-lk"L’ll:l i 51
54 .Which problems may arise after kidney transplant? L 2 &f‘ e f ! ,;:.,_;#Jug i 52
95.What is meant by tissuery junction?” Te sl fy",_ﬂg A 53
56.0Define coordination and write down its types. _U:-‘ I'L'g"!“" S /':-E jJJ-:".;_,.f,u" .54
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57.Define stimulus. Give any two examples. .gdﬁ:ﬁdﬁq.kfdﬁ 55
58.What is meant by coordinator? Give their examples. _.L{A_ghﬁg e e Sy 56
99.What are effectors? Explain with examples. P CTIYgr  s }.(E!, 57
60.Define response. Give one example. i «.'-lfvj#f»f 58
61 .Dl:ijfif:;ﬁg:gle between nervous coordination and chemical 273 S K e s 59
Eg.j‘ur'l.’hat is a- neuron? Write the names of its two parts. "‘-':JI""' Lur? Lt +y’ﬂuf 60
63.Differentiate between dendrites and axons. < Saeafia Lt 61
64.Describe the function of dendrites and axons. Y _,-’W_;, Flal A Lk 62
65.What are the types of neurons according to their functions? *LEMG?, S L ¥ .63
66.What is the difference between sensory neurons and motor k> -,'-J‘ML#'- 21, f _Ig,, S 64
neurons?

67.Differentiate between sensory and motor nerves. *.,; jJ };l_,_-. %, _;,,. g 65
69.What is a hypothalamus? Give its function. -t-E fw#ﬂ £ 66
70.What is midbrain and its functions? Where is it located? .t é—"r&kl-hr vl fwwf i'-i(h‘a.’ ¢4 67
71.What is spinal cord? Write ts functions. i e R N 68
72.What is somatic nervous system? f&'—P?'J S1ibr 69
73.What is autonomic nervous system? | ':j::- h:-kﬁ""mf-fﬂf .70
74.What is the function of sympathetic and parasympathetlc LA rW,}"Jﬁ L 1 ST T
nervous system? MR SN

75.Differentiate between voluntary and involuntary actiunﬁll. LS A0 S S T2
76.Differentiate between refiex action and reflex are” . ._ LIPAITA SO, T3
78.Differentiate between sensory nerves and mutﬂr newea LI Lt mnis e T4
79.Differentiate between central and peupheral nErr:'.rErus ‘i‘_._"BIEI"I'I LAl )uﬂrﬁ-’uﬂd ks 75
80.What are receptors? Give their axampf{as N - et et 76
81.Differentiate between aq ueous hurr'i':rur arrd 'wtreaus humaour. SN r'rf:-i:"-h{ SIS R roT Dl pa P TT
Give their functions. ; SR

82.Write two disorders of eye LSSl ET T8
83.Differentiate bemreen M}rnpia _a_nq_Hynﬂrmetrnpla LRl 79
f;cﬂgzg |5h1..‘r.[.:.p.%l'lrf’[mpla .zmd‘ +ts ‘tauses? How it can be ¢ thfm 4—’!@‘-{.{ Sehech s W4y 80
85.How ears ma‘mtﬂm the balance of body? Tuﬂilxif{fulﬂifb)u/uf 81
86.Why Ali-lbn |sa is famous for? Yo iﬂuﬂﬂfﬂ'& 82
B7.Write function of oxytocin hormone. -v.ﬂ'ﬁd*ﬁl’w‘ J‘c,-},_ﬁ' .83
88.Differentiate between hypothyroidism and hyperthyroidism. ted B LA Je aﬂJﬂrﬂi" e & .84
89.Write the function of parathyroid gland. oy, IMHWH 85
91.Write down the functions of insulin and glucagon hormone. "y, fu.hn.v"'ﬁu-‘- I":f“"" 4uif¥fr‘ it 86
ﬁg.r‘n;’gﬁ; i;srs Te?ur;; the}:j f;edhack mechanism? How the secretion of fetblfe/ .S Sr ATes fir"#ri“é‘ Li .87
?:éc?;firhentiate between negative feedback and positive LISl _;_:E- Ly 88
94 Write tlhe causes and symptoms of paralysis. S Al sieg 2t 89
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95.What is meant by goiter?

r.;_x;g.f;,ﬁuf .90

97 Differentiate between cartilage and bones.

LSRG X 9

98.What is meant by movement? Describe its types.

LSt OISR i e ainsy 92

99.What are the types of a cartilage? In which organs they are
found?

Lty SN g St IS X 93

100.What is an elastic cartilage and where is it located? Give two
examples.

AUt et Ut B KL 94

101.5tate elastic and fibrous cartilage.

LSy S Ky e 95

102 Write down the interrelation ship between estrogen and
bones.

te PRI 96

103.Differentiate between chondrocytes and osteocytes.

LN ET el s 97

104.Define joints. Write the types of joints. Write their names and
give examples.

4~ﬂ¢-;nﬁwpf!®:j£_g{f_§}gfﬁ£ 98

105.Differentiate between hinge and ball and socket joints.

4.;!13);,::_&:3&%;;.;@ 99

106.Differentiate between tendons and ligaments.

_g:‘ﬂ:}pt..;-ﬁmk 100

107 Where fixed joints are located?

TL;IL#MUP‘H.L! A0

108.What is meant by a flexor muscle and flexion?

?-‘i—-“,—’k‘lﬂ-ﬂ-""‘y 2 102

109.What is meant by an extensor muscle and extension?

PR ) /"-:"'El 03

110.Define flexor and extensor.

-QIJ;J/?‘EMH/? 104

111.Differentiate between biceps and triceps.

L3R W de 105

112 Differentiate between antagonists and antagonism.

LIPS e S 106

113.Differentiate between flexion and extension, : ted Mﬂu‘tﬁhﬂwg 107
114 What is the difference between origin and ms.&mﬂn‘? ted Mﬁpﬁ * i e 108
115.What is osteoporosis? Give its sym ptarns Eﬂlﬂ r:élruses _Ug‘ A2 sl #'JJ-’ __.#;‘.L,, 109
116.What is arthritis? Give its symptoms, and trEatmenL _‘_;-Jw ;MJJF?;-L—Q# L2110
118.What is gout? Write its symptqms and caus&s _‘_Hw, #WJ'?#H( 11

119.Define reproduction. Gw&ﬁs Jmpﬂrtanﬂﬁ

LS eSS b PSP e A12

120 .Differentiate between SEmaI and ﬂsexual reprnducllr::n

LIS b gif £ S 13

121 How does blﬂ&l“y‘ ﬂssmn take pTai::e inunicellular eukaryotes?

te dnl WP S ARSI Ly 14

123 What is buddmg? Gwe e:-'.amples of organisms which
reproduce asaxuaug,r by buddmg'?

S e 3 P L 2SS aseerta S Ey 115
LS bz

124 What is the dlﬁerence between spores and sporangia?

te A ALl slisgy 116

125 How budding occurs in invertebrates? Give example.

e dned S AL L T

126.What is binary fission? How do bactena reproduce asexually
by binary fission?

Pl K IS L BLS AW A 118
rl )

127 What is meant by vegetative propagation in plants?

fo ;yf.-_&-f!'ﬁmu:w,; 19

128 What are bulbs? How plants reproduce vegetatively by
bulbs?

(LS IS oy kA 120

129.What are corms? How they help in reproduction?

1Ll IS LS b g S A2

130.How plants reproduce by suckers? Give example.

YL S b g IS ey Lo 122
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131 How plants propagate vegetatively by grafting? Give
example.

LSS G IS e B I LS

123

132 What is the difference between cutting and grafting?

te LB B 124

133.What are the disadvantages of vegetative reproduction?

?Waﬂﬁiﬁ%&fﬁ

25

134.Define cloning and tissue culture. '_4_{)'__4.},_{};!”._;,( 126
135 Differentiate between binary fission and fragmentation. r Q-J)L-‘L'-'-J'"}-ﬁ’ HJ{; AL 127
136.Differentiate I:retv.lreen sporophyte generation and {f;&;{j};ﬂuﬁ ﬂmﬁ%ﬂ:ﬁﬁ A 128
| gametophyte generation.
137 What is meant by alternation of generation in plants? fo A;"_:ﬁ ﬁ_;fwﬂf /'quf:un{ 129
138.What is meant by sporophyte generation? Pl J,.krﬁ_ua-:  2eAing 130
139 Define self pollination and cross pollination. oy f_é, /;d’u‘:yﬁuﬂ _L,,J“{;#_*. 131
140.What is double fertilization? | | f,H,q;,ﬂ st 132
142 What is a seed coat? Wnite its functions. _,H:;'u*rwym 'F-E(‘-"( % 133
145.What is epigeal germination? Give its examples. {M{ﬁ#ﬂ ;LP‘? 134
_; ::iﬁ?r:faf?ir;zﬁate between epigeal germination and hypogeal , %J&(M JI.P#'[ ‘,w—::': 3,_];-15, 135
147 What is fertilization? And write its types. _d:{( rUiJW{-quﬂ 1) 136
148 Differentiate between internal and external fertilization. ) -\I Sl LFIRIS ;,_g‘w 51137
150.Define follicles. What is present inside it? " ?—%k&‘“ LJL#;& ‘;Jx.l; 138
152 Differentiate between epicotyl and hypocotyl. < Sl ﬁju:pr_'ﬁ ﬂk_}’g{@, 139
154 What is meant by gametogenesis? Tesl J,.y’c_{_,«‘i ;.:4:" 140
156.What is semen? And write its composition? Ry LM J‘g{l.rmﬁf#uﬂ:" 141
157 .Differentiate between prostate glands andwwparsglar‘rds Y NI S an&, ¢ 142
161.Define Genotype and phenotype. " _Q:-ﬂ' S A 143
162.What do you mean by hnmﬂzggﬁu_s._fihd__h&tg_mz?gnﬁs? fo /m.._,,_,-é'u, A _,,;,_,?u,; o 144
164.Differentiate between genﬁsl_g.:ri?d_l_fﬁ_g_i_? “J Jarde s 145
165.Define transcriptions. R _' o LS W FEHP 146
166.What are hnmnz',rgnus and halerﬂzygnus genotypes? fﬂr‘fwﬁm et _,,;,_,?u,; w 147
167. Dlﬁerentlate b&Meen transcnptmn and translation. ted &r'_gc}::'"g_,%#,_ﬂ 5 148
168 .Define ge\nutype EIFI'Ei pheﬂ otype. rﬁ-_‘})g’,l_g.’;rﬁ_,,;*:u;g 149
169.Define genes and alleles S A Kz 150
170.Write any two main points of Watson Crick model of DNA., < fwﬂm&fﬂwﬂ/@}h 151
171.Differentiate between Artificially and naturally selection. Y fgbﬁ ¥ Uﬁtﬂl‘ g 152
1E|.::Eat s the difference between dominant and recessive £ St I LM s atirss 153
??S.Wﬁat do you know about Gregor Mendel? TLE'-LE'&(TTL»"-"'—& &) b Er 154
175.What is a monohybnd cross? tesd e/l Ay 155
176.What is Mendel's law of segregation? "y fl:JLsJ""E ,E:_if,ufd}g' 156
177.What is a dihybrid cross? f«,'-k‘rl.f'—ﬁ A1 157
178 What is Mendel's law of independent assortment? 0y ﬁ'—k&-"; s w,urd 4> 158
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179.What is meant by true breeding? Tf_j;ylg'__g&.frj 159
180.What are dominance and ressalas? t L skt eiess 160
181.What is co dominance? Give examples. Y ,dﬁ-fq_,l e et 161
182 What is incomplete dominance? Explain with examples. LS e bse yMted e e 162
; Siﬁi;f:{;zntiate between co dominance and incomplete 20 }._,n‘:u-""‘:ﬂ{,};t migastd 163
184 Write t';l.'n characteristics of discontinuous variations. L s lor®s My J,J-«* 4 164
185.Define continuous variations with examples. _4,._#., sl f f--!' jJ,,_; j,_}-"" 165
186.What is theory of special creations? ?ﬁ-_.ymf J&V ¢~ 166
; Sl'r;.gilzfs_renuﬂte between natural selection and artificial ffrw_bﬂ%ﬁfﬂ ‘E,H_L,.; 167
188.What is the difference between breeds and cultivars? 1-&._3 M_,:,J 4y 168
190.Differentiate between camivores and herbivores _,_£ fu}ﬁ}dﬂ_};‘mj K 169
191.What is meant by decomposition? Give an example. _,_I,,_b..( it Pl e cRaliss 170
192 Write down the biotic and abiotic factors of ecosystem. 1_2” Jﬁ_g’_ﬂmﬂ;‘}*’ £ AT

193.Differentiate between ecosystem and biosphere.

TSI b AT

194 Define food chain and food web.

LI St T3

195.What is a trophic level? Write the names of different trophic 'I .

levels of a food chain.

d,efrrm,;_ﬁ_m:.mmq_w,;_ﬁ 174

196.What is meant by nitrogen fixation P f]:"c-lf‘f'cf** Fe 175
198 What is assimilation? fos e 1 AT6
199 What is meant by de nitrification? P ﬁ{‘_ﬁ SFeus 77

200.What is a food web?

Te sl et 178

201.What is meant by an ecological pyraﬁ'id;? "

e e BASe0E 179

202.Define a food chain. Give one ﬁ:ﬁampﬁa.

Loy S S 180

203.What is meant by pyramld hilr:rrr’r'e.us‘*.-".~'?r

YW \FLd 181

204 .Define predation with an E}mmpl-e I ST T
205 Differentiate behhfeen m’tm Spemﬁc |ﬂteractmn and inter te AL .f'fl » :f’fl g
specific interaction] ™. i eI AT AN £ PRz

206.Define symhmsm er’[a the names of its types. ﬂrrl-' HJJL;{,IL&‘J;JJJM Y

207 What is parasﬁlﬂ-m'? Gwe some examples of parasites.

L sl st Ads. 185

208 .Differentiate bet\!.rEEn ectoparasites and endoparasited. Give
their examples.

IS S e st s 186

209.What is mutualism? Give its one example. oLt e 8T
210 What is commensalism? Give one example. Lt ﬂ.r"_r,i-.',:,-‘,l" 188
211 .Differentiate between mutualism and commensalism. te G rﬁ"u!" ’r:"'['-*f 189
212.Define global warming. LIw S L F 190
213.What do you mean by deforestation? el fk(;_ﬁg&j 191
214 What are the effects of deforestation? ! IWIL# $Aud 192
216.What are the harmful effects of acid rain? M w,ﬁjjl@f 193
217 What is meant by czone depletion? Te il fy":-_c;‘#jwﬂ,; 194
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218.What is utrophication? i .;-_J’-'gj},{ 195
219 How is smog formed? Write its two disadvantages. Lt ,m,l.__&é’__f,r 196
220.Differentiate between renewable and nonrenewable ", S )L;é;%;Jn a6 197
;EQ?E}"::S@E the scope and importance of biotechnology. “ jwd'wﬁv,ﬂrw £, .198
224 Write down the role of biotechnology in the field of L eI EAEA L 22 L Jr 199
environment.

225 What is alcoholic fermentation? Te i fgd_ﬁ st 200
226 What is lactic acid fermentation? Give its importance. LSS s /krﬂ_b}‘::" Ala g0 201
227 Define glycolysis. What are the products of glycolysis? r%fu-’ﬂ" 1 4,;_':‘,.‘5“,&"5{_4 S /J,.{ju F 202
230.What do you know about batch fermentation? ¢ 'i'-"' fh'(ﬁ—t'r"'# dACufs 203
231 Write two advantages of fermenters. . ,;_;;,,,{;J 5204
232 .Explain the role of Pasteur in the field of fermentation. g Wy‘;{ﬂ# L,f‘" }.205
233.Define fermentation with reference to biotechnology. _4 j_g }J"f'“ )-:-LJ.M:WJ:L ,206
234 Define alcoholic fermentation. ﬂ..{f..é'}l.ﬂ.!"h S 207
235.What is genetic engineering? _4 oA 4 j’ S /fl....ﬁ-"" 208
236.What is genetic engineering/recombinant DNA technology? ‘h,-_af ;,y’&_{j.j - 2SR leriSs 209
237 Write any two characteristics of transgenic animals. o . )'%w,ﬁ,,{f _,j,_ﬁr’u 4 .210
238.What are the objectives of genetic engineering? < Sitasripe 2 ‘,J p,_ﬁ:-: 211
241 What are transgenic organisms? ?wp",.i.ﬂ‘..ﬁf- ¥ .212
242 Enlist the achievements of genetic engineeﬂng_:_.-" , "y 'y é;,_&u E_,,j;r_',_:-' ,"'J;_ﬁ:-: 213
243.What is thymosin and write its function? : o, _L{I&rwgﬂq_l@'ﬁﬁ 214
245 What is urokinase? What is its use and hﬂw |i15 ul:}tﬂlneﬂ 5‘ Tq-&_rl.ﬁ.f'lr{ sl S WU Wy 215
246.What is vector in genetic Englneerlng'? el i e Ny | e 216
247 What is meant by gene therap'y'? . Te sl ;y]-_.{,}!,?u? 217
Eiﬁ :I"::r;at is single cell prutEm'? 1."'u'|'11.r 1 |5 calred smgle cell Lot UL Fs gk S o e fay o S 218
252 What is th[.rmnsjn hﬂrmﬂne'? Wme 115 functlnn also. ‘_(_fﬂf AL fkrt-ﬂlf:’;i:f;ﬁ- 219
253 .Describe T.he mpartance ﬂf slngle r:,ell protein. Y ,"'WJ,,E y ,a_j:‘,ﬁf 220
254 What is meant bjr phﬂFmEH:EULIEHl drug/medicinal drug? el el ﬂi,j&ﬂ_ﬁ 221
255 What is mearit b}“ drug'? Write names of its two types. _‘;’ﬂgruwdﬁﬁ._j Y eSi 222
258 What drugs are Dt:lalned from animals? tla v A i ide 223
ggg.ﬁ&s’r;i;:h drugs are obtained from minerals? Give their names "'HI"'" Lot gt s ol beyfcl» 224
EEE.Writé a note on the work of Joseph Lister. J‘L 3 4‘"5 Mg 225
263 Differentiate between antibiotics and disinfectants. _.;z_'l_,,ﬂ})ﬁ,_,-'-'-"? s ® Ay 226
265.What are antibiotics? Give their examples. _gdwgprg e Ad 227
267 Differentiate between disinfectants and antiseptics. LS Jihtur‘:: &M s 228
268.What are addictive drugs? Give their examples. _q,t;!ﬁ,j'ﬂ.rw‘iﬂ_,,‘rﬁ 229
269 What is marijuana? What is its source? LS Lt fiing 2 230
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270.Write some problems of drug addiction. < _,.r'%LF [y -{:'-'-iﬂ'-"f & 231
271.What is meant by social stigma? T fg';_&j'r_ 232
gffé‘::h’?hat 15 marijuana? For which group it is related to addictive e HJ cif{la{._ ; mf’:iah’m-;.yfw 2 233
274 Differentiate between narcotics and hallucinogens. -l.fl'ujfaﬁﬁ "ﬂ"&‘iﬂb"" I 234
275.What is vaccine? Name two vaccines being used. *Hr' Lﬁgfﬂ, Lot fp‘:_wg{, 235
276.What is the difference between analgesics and sedatives? ted M Lk _,,‘U—IE'EJ:, 236
E'r"rl’.[l}iflferentiate between broad spectrum and narrow spectrum ted }L"{.ﬁu"— ﬂ@.,r}_e, £ ﬂ,r}_ﬁ;ﬂ{ 237
antibiotics.

iﬁﬂﬁ:nﬁatﬂ between bactericidal and bacteriostatic te /!r(vtu" flr&‘k-ﬂ"tﬁ‘ ™. ﬁ 238
280.What are sulpha drugs/sulfonamides? ryfkﬁ,_##w,.ka 6l 239
281 Differentiate between antiseptics and antibiotics. "f-W\-ru’!ﬂ ;, _,,r_,ﬁ'*’ J!., 240
282 What is meant by vaccination? R f'i'-" !.p"f‘* 241
283 How vaccines are administered? ) TLE& ,Ji.g‘:_’ ﬁf 242
284 Describe the difference between antigens and antibodies. u.{ ;J IN- {J!J’" » ﬁ't?" 243

Q2. Write detailed answers of the following
questions.

_q'/ j ...4 12k L 3000

Write the osmotic adaptations of hydrophytes and xerophytes. Wy .L boEr it s i ) (1
Describe the structure and functions of thyroid gland and i Sulek fﬂ NS B ik ;,--.,Lg;;{_r}
pancreas. . Y )
Which are the major organs involved in homeostasis in human =1f._:;.-;ih,;-;;"}._;’:,,-,,_:, LA et — .,»,,Ur;(’- Zoulaiy (2
body? Describe the roles of each of these r:mrgans \ L

E -..,_,"..r il F._,.- .-'I gt e
Describe the contribution of Ibne-al-Haytham and #Al H}ne J:sa ;r’, e dtp £ E gk i s S ":-.-*]'
with knowledge about the structure of eye am:l EFEHII‘I‘IEEIHJI'
various ophthalmic diseases. o e
Define osmoregulation. Describe thes rcrle af k.rr:in ey |r1 et AP e M S S ) (3
osmoregulation.
With the help of labeled dlagram expi;aln Jhe slﬂ.[ﬁture of nephron. YT RN L S YT ;uk:'(_}
White the names of functmﬁs f;rf fﬂbes nf GE{el:lrum And explain. S L L A (4
Describe the functioring :::fl-utineg.r ISl ML S
What is rhE,ll.lrl:rFrrrl E::pfam its tl'nre&t}fpes S S e V(i) (5
Wiite a note of hemm:]' aljcara I oA
What is a neuron o-a herve cell? Describe its structure. e S e s A (i) (6
What are coordinators? Name the coordinators of nervous and O (ST it 3 523700
chemical coordination. y

=i 'k

Q3. Write detailed answers of the following
questions.

S/ 2 F MR T LWy S5 p0ur

2 be i e o .
What do you mean by a bone? Describe its structure. et e S (]
iti i i rl: * ' |'- . I b o - |’.ﬂ
What conditions are necessary for the germination of seed? ST e rd LT ad )
' ' , ¢ TS T .
What are the main components of an axial skeleton and e wf e 2 AL P M s Ll (2

appendicular skeleton of human?

What is meant by tissue culture and cloning? Explain.

- S zalos ':".:h sl Lf#.'_-_s.fh/.-':'ﬁu(?(v}

MUHAMMAD QADIR RAFIQUE , CELL # 03024741124, WHATSAPP # 03024741124, EMAIL# qadir.jsa@live.com




GUESS 2022 AL-QADIR JINNAH 5CIENCE ACADEMY MALLIAN KALAN SHEIKHUPURA BIO 10TH

What is meant by a joint? Descnibe different types of joints.

WS a—L..Tr_i’e".,ir}j:'?'L T () R

What is meant by pollination? Differentiate between self and
cross pollination,

,_.I’Jr ;-’._.,-.._, ~_}:«.,_,'“I-‘.e,-l._.-Jr‘ Jlfl.,-'__,__ J;{.‘,}

Describe the roles of tendons and ligaments in human skeletal
system.

..._..":..-f;f'k-. Al :JF—E?_..":?E':H.'.-: .:-';,':._..’:l*".# UL.J'-'-'I:: L JUla)y (4

\Write down the advantages and disadvantages of vegetative
propagation of plants.

-._,..r |L._L|.-=~'.-:f__,a.|:..:_.._, {r‘:':; (q.r}

What is arthritis? Write down its symptoms and treatment. Also
describe its different types.

l.'-l.l'.’-l'*LFr—"L'f'n.: vl 'L-' -'" = L’UJ"’-'?II—'LJ"' L'.-.I-P.IT"-,-— .';J-fhrf;l-‘;r-'ru} {-5

-Ur.r"

Describe two common methods of artificial propagation,

..,_...-'._,L.._.;'L"L*J._.,,.-" J*"“"(q.v}

What is meant by binary fission? How asexual reproduction by
binary fission takes place in bacteria, amoeba and planaria.

vJ”;I._,»..L-“J"‘;-r.#rL.ﬁ“.-'_JI_:;".J = .,_:fL(...ill} (6

e
s:hu"wl’ d o B

What is meant by vegetative propagation? Describe different
ways of natural vegetative propagation.

%f-ﬁipﬁj{#:u;ﬁ JJ,-*LFQ-L.-’-FJ:- {-{Ni‘(v}

--I,..-r.ll" l-_.IL"

Gl gt |

Q4. Write detailed answers of the following
questions.

.q[f j.umw’&_mfdj,gm

Discuss the biotic components of an ecosystem,

Write a note on carbon cycle,

--_ _||_.. .-" e et # u._,."rh !"J -.,-L v v q.-r"'-._'. '\:-l'(r-“} {1
| i F )

Write a note on nitrogen cycle,

_.._,.’.‘."{F..t. ¥ .;:_._E'ILs O () IV

What is meant by acid rain? Write down the 5|gnn‘" GEIM Eﬁ’en:ls of |-

acid rain.

=

-] - i . - # -
B e FeS LA e A A et 1 )

Define green house effect. What is global anmr{g"r‘ wme |ts
effects. . S

o~ -~ # i a " o
.;,'_-1'.-.'1-'|-:|-"_—|_.-r"i-'f_;-k- 1.-3;-'-"1_.-‘: !b-l.,..-:a"r--é"/:‘l e —‘E:E'n...-r -'"fl.'-':-'" ('—“} {3

~

- :,-*'

What is water pollution? Describe |ts eifet:l.s and na;:nltml

T " P
-,_,.'fb._,l_-:-".-:'.:..l.r '.g;;jl'E.rl:__.:-' ._‘..I'.d.:_'.-*l.-(.r-}

Write the important achievements uf ImtEEhnr:sIug}.fwih
reference to medicine, agrlcmmre- ami Enwmnrr[ent

LUk E AL R Yl e e L ol st i () (4

-|_,.r.|l‘

Describe two basic t}rpes ﬂf ﬁarﬂﬂhydrate fermentatlﬂn

Describe four grﬂﬂpa af fu-n-d c:htameﬂ by’ Termentatmn

- . F & M N ,

i - e = - & 5 i
T Y .rlri_-'l.r:"'._!lrﬂ.;.-':fl.pr:_.l_‘,ﬁ'ﬁ A (5

What is a fermenier’? Gni'e the detail of two types of fermentation,

carried out in fEﬂnEnter s

.- ﬂ. L
ol 2 *uu-u 2 Al b St el 72 )

-l.__,-r.."'

Write down the achie*'.né ments of genetic engineering.

ISR EE Y S /-*’!I_.w"(...i'l} (6

What is meant by single-cell protein (SCP)? Write its importance.

- L'L’—“‘IL’I_-'"': -‘**"-'-’-..-f"e‘{ut If}'f'::'-r-’jn'l
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